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Question ID:- 1

Which stage of development is characterised by dealing with issues of finding one’s own identity
and abstract thinking ?

(1) Infancy

(2) Early childhood
(3) Middle childhood
(4)

4 Adolescence
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Options:-

.1, Option ID :- 1,
. 2, Option ID :- 2,
. 3, Option ID :- 3,

. 4, Option ID :- 4,
Answer Given:- 4, Option ID : -4

Question ID:- 2

Which of the following statements given below is NOT correct about the principles of development ?
(1) Development follows particular sequence.

(2) Development follows differentiation and integrations.
(3) Development follows toe-to-head direction.
(4)

4)  Development follows center-to-periphery direction.
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Options:-

.1, Option ID :- 5,
. 2, Option ID :- 6,
. 3, Option ID :- 7,

. 4, Option ID :- 8,
Answer Given:- 2, Option ID : -6

Question ID:- 3

The primary cause of individual differences in children is :
(1) Only genetic make up of the individual.

(2) Only the child rearing style of the parents.
(3) The complex interplay of heredity and environment.
(4) Only the physical environment of the child.

T=ai # =t faf=rmsii 1 79w = e ?

(1) hae =Afad o a9 0 |

(2) A YA & AAT-TIT0T T TR
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Options:-

.1, Option ID :- 9,

. 2, Option ID :- 10,
. 3, Option ID :- 11,

. 4, Option ID :- 12,
Answer Given:- 3, Option ID : -11

Question ID:- 4

Socialization is a :
(1) linear and fixed process

(2) simple and uni-dimensional process
(3) complex and multi-dimensional process
(4) rigid and universal process
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Options:-

.1, Option ID :- 13,
. 2, Option ID :- 14,
. 3, Option ID :- 15,

. 4, Option ID :- 16,
Answer Given:- 3, Option ID : -15

Question ID:- 5

Jean Piaget suggested that :

(1) childern think and learn differently from adults.

(2) language facilitates the development of cognition.

(3) children thinking is quantitively different from that of adults.
(4) are born as blank slate and are unintelligent at birth.
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Options:-

.1, Option ID :- 17,
. 2, Option ID :- 18,
. 3, Option ID :- 19,

. 4, Option ID :- 20,
Answer Given:- 1, Option ID : -17

Question ID:- 6

Which of the following is a correctly matched pair ?
(1) Infancy - 6 - 11 years

(2) Middle childhood - 2 - 6 years
(3) Formal operational stage - 11 years and above
(4) Pre-operational stage - birth tll 2 years
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Options:-

.1, Option ID :- 21,
. 2, Option ID :- 22,
. 3, Option ID :- 23,

. 4, Option ID :- 24,
Answer Given:- 3, Option ID : -23

Question ID:- 7

A major critique of Kohlberg's theory of moral development is that :

(1) It does not specify stages.

(2) It disregards the effect of cultural factors and gender on moral thinking.
(3) It uses participant observations of childern in naturalistic settings.

(4) It does not give a fixed sequence of moral development.
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Options:-

.1, Option ID :- 25,
. 2, Option ID :- 26,
. 3, Option ID :- 27,

. 4, Option ID :- 28,
Answer Given:- 2, Option ID : -26

Question ID:- 8

Lev Vygotsky believed that :
(1)  Children passively reproduce what is presented to them.
Children construct their own understanding by support from adults
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) Children learn by associating stimulus with response.
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Children learn when presented with appropriate materialistic rewards.
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Options:-

.1, Option ID :- 29,
. 2, Option ID :- 30,
. 3, Option ID :- 31,

. 4, Option ID :- 32,
Answer Given:- 2, Option ID : -30

Question ID:- 9

In his theory of cognitive development, Lev Vygotsky gave a lot of importance to psychological
tools such as :

(1) language

(2) calenders

(3) calculators

(4) mobiles
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Options:-

.1, Option ID :- 33,
« 2, Option ID :- 34,

. 3, Option ID :- 35,

- 4, Option ID :- 36,
Answer Given:- 1, Option ID : -33

Question ID:- 10

In a progressive classroom :

(1) learning of childern is controlled by giving rewards and punishment.

(2) children are kept under strict watch and made to follow rigid curriculum.
(3) the approach of drill and repeated practice is followed to enable learning.
(4) ‘direct experience” and ‘discussions’ are the basis for learning.
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Options:-

.1, Option ID :- 37,

« 2, Option ID :- 38,

. 3, Option ID :- 39,

. 4, Option ID :- 40,
Answer Given:- 4, Option ID : -40

Question ID:- 11

Individuals who demonstrate are acutely aware of their feelings and can show an
appreciation for themselves.

(1) Logico-mathematical intelligence

(2) Bodily-kinaesthetic intelligence
(3) Intrapersonal intelligence
(4) Linguistic intelligence
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Options:-

.1, Option ID :- 41,
« 2, Option ID :- 42,
. 3, Option ID :- 43,

. 4, Option ID :- 44,
Answer Given:- 3, Option ID : -43

Question ID:- 12

Which of the following behaviours by teachers help to reduce gender stereotyping and discrimination
in children ?

(1) Asking only boys to pick up heavy furniture in class

(2) Giving toy dolls and houses to only girls

(3) Referring to care giving professions for women only

(4) Inculcating qualities autonomy and empathy in all genders
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Options:-

.1, Option ID :- 45,
. 2, Option ID :- 46,
. 3, Option ID :- 47,

. 4, Option ID :- 48,
Answer Given:- 4, Option ID : -48

Question ID:- 13

Which perspective considers language to be an important tool that facilitates cognition ?
(1) Behaviouristic

(2) Information-processing
(3) Socio-cultural
(4) Psycho-dynamic
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Options:-

.1, Option ID :- 49,
. 2, Option ID :- 50,
. 3, Option ID :- 51,

. 4, Option ID :- 52,
Answer Given:- 3, Option ID : -51

Question ID:- 14

Which of the following is not an effective strategy to accommodate diversity in a classroom ?
(1) Finding out the student’s social and cultural context of the students

(2) Adapting pedagogy as per the students’ different backgrounds
(3) Providing a variety of examples that are meaningful to all students
(4) Using a standard set of instructions and ignoring the background of learners
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Options:-

.1, Option ID :- 53,
. 2, Option ID :- 54,
. 3, Option ID :- 55,

. 4, Option ID :- 56,
Answer Given:- 4, Option ID : -56

Question ID:- 15

Which of the following should characterise assessment for meaningful learning ?
(1) Standardised

(2) Comprehensive
(3) Formative
(4) Qualitative
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Options:-

.1, Option ID :- 57,
. 2, Option ID :- 58,
. 3, Option ID :- 59,

. 4, Option ID :- 60,
Answer Given:- 3, Option ID : -59

Question ID:- 16

Inclusive education involves :

i)  provisioning a ‘barrier-free’ environment
"

R

separation of children based on their abilities
iii) identification and appropriate labelling of childern

iv) flexibility of curricular experiences and pedagogical strategies
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Options:-

.1, Option ID :- 61,
. 2, Option ID :- 62,
. 3, Option ID :- 63,

. 4, Option ID :- 64,
Answer Given:- 1, Option ID : -61

Question ID:- 17

While interacting with a diverse group of students, a teacher should NOT :
(1) Encourage debates and discussions

(2) Reflect on her own biases and stereotypes
(3) Follow a uniform curriculum and standardised evaluation
(4) Adopt the lecture method as the only pedagogical strategy
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Options:-

.1, Option ID :- 65,
« 2, Option ID :- 66,
. 3, Option ID :- 67,

. 4, Option ID :- 68,
Answer Given:- 3, Option ID : -67

Question ID:- 18




Assertion (A) : A teacher should make provisions such as giving extra time for written tests and
provisioning for a varitey of materials other than books to support childern with
dyslexia.

Reason (R) : Children with dyslexia have difficulties in reading.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3)  (A) is true, but (R) is false.

(4) Both (A) and (R) are false.
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Options:-

.1, Option ID :- 69,
« 2, Option ID :- 70,
. 3, Option ID :- 71,

. 4, Option ID :- 72,
Answer Given:- 1, Option ID : -69

Question ID:- 19

Which of the following is an example of assistive technology to aid students in vision ?
(1) Headphone

)  Picture based worksheet

) Braille system for reading and writing
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.1, Option ID :- 73,
. 2, Option ID :- 74,
. 3, Option ID :- 75,

. 4, Option ID :- 76,
Answer Given:- 3, Option ID : -75

Question ID:- 20

Which of the following are typical indicators of creativity ?

(i) Curiosity

(ii) Independence

(iii) Adaptability

(iv) High levels of concentration
(v) Need for repeated practice
(1) (@) (i) (i)

@ () (i) ()

(3) (i) (i) (iid) (iv)

(4) (i) (i) (iid) (iv) (v)
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(2) (1) (i) @v)
(3) (i) (if) (iii) (iv)
(4) (1) (i) (i) (iv) (v)
Options:-

.1, Option ID :- 77,
. 2, Option ID :- 78,
. 3, Option ID :- 79,

. 4, Option ID :- 80,
Answer Given:- 3, Option ID : -79

Question ID:- 21




Assertion (A) : For effective learning only the teachers should ask questions in the classroom and
not the children.

Reason (R) :  Children learn most meaningfully through the process of passive listening.
Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) Both (A) and (R) are false.
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Options:-

.1, Option ID :- 81,
. 2, Option ID :- 82,
. 3, Option ID :- 83,

. 4, Option ID :- 84,
Answer Given:- 4, Option ID : -84

Question ID:- 22

Assertion (A) : Teacher should provide adequate and appropriate scaffolding to the students as
and when needed.

Reason (R) : Learning is a collaborative process.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3)  (A) is true, but (R) is false.

(4) Both (A) and (R) are false.
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Options:-

.1, Option ID :- 85,
. 2, Option ID :- 86,
. 3, Option ID :- 87,

. 4, Option ID :- 88,
Answer Given:- 1, Option ID : -85

Question ID:- 23

How should teachers view failure of students in an elementary school classroom ?
(1) As areflection of low abilities of the students

(2) As a reflection of low abilities of the teachers

(3) As a reflection of low abilities of the parents

(4) As a reflection of functioning of the school as a system
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Options:-

.1, Option ID :- 89,
. 2, Option ID :- 90,
. 3, Option ID :- 91,

. 4, Option ID :- 92,
Answer Given:- 4, Option ID : -92

Question ID:- 24

In a socio-constructivist classroom learning is :

(1) Passive and individualistic
(2) Active and individualistic
(3) Active and social
(4) Passive and social
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Options:-

.1, Option ID :- 93,




« 2, Option ID :- 94,
. 3, Option ID :- 95,

- 4, Option ID :- 96,
Answer Given:- 3, Option ID : -95

Question ID:- 25

In the problem is divided into a number of intermediate goals and then focus on solving
each sub-goal.

(1) Functional fixedness

(2) Algorithms
(3) Means-end analysis
(4) Response set
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Options:-

.1, Option ID :- 97,

. 2, Option ID :- 98,

. 3, Option ID :- 99,

. 4, Option ID :- 100,
Answer Given:- 3, Option ID : -99

Question ID:- 26

Assertion (A) : Teachers should disregard the mental well-being and emotional needs of children.
Reason (R) : Academic learning is not influenced by the emotional well-being of the child.
Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) Both (A) and (R) are false.
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Options:-

.1, Option ID :- 101,
« 2, Option ID :- 102,
. 3, Option ID :- 103,

. 4, Option ID :- 104,
Answer Given:- 4, Option ID : -104

Question ID:- 27

Learning should be facilitated :
(1) through meaningful discovery

(2) by promoting competitions among students
(3) Dby offering materialistic rewards
(4) by using negative reinforcement
FAferTy =1 Y gEIiya e =y ?
(1)  31efqul @rst g |
(2) feenferi § gfoeasi 1 sm@ran g2
(3) ofifds qE=RR <Y
(4) THRHR T <ot |
Options:-

.1, Option ID :- 105,
« 2, Option ID :- 106,
. 3, Option ID :- 107,

. 4, Option ID :- 108,
Answer Given:- 1, Option ID : -105

Question ID:- 28

involves knowledge and awareness about self as a knower.

(1) Metacognition
(2) Assimilation

(3) Accommodation
(4) Conditioning
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(1) AfaEIE

(2) HHESH

(3) HHEYH

(4) A
Options:-

.1, Option ID :- 109,
. 2, Option ID :- 110,
. 3, Option ID :- 111,

. 4, Option ID :- 112,
Answer Given:- 1, Option ID : -109

Question ID:- 29

Teachers should believe that ability is and encourage students to set

(1) fixed; mastery-oriented goals

(2) fixed; performance-oriented goals

(3) improvable; mastery-oriented goals

(4) improvable; performance-oriented goals
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Options:-

.1, Option ID :- 113,
. 2, Option ID :- 114,
. 3, Option ID :- 115,

. 4, Option ID :- 116,
Answer Given:- 3, Option ID : -115

Question ID:- 30

Which of these statements about motivation and learning is correct ?
(1) Learning is effective when the students are motivated to avoid punishment

(2) Learning is effective when the students have intrinsic motivation
(3) Learning is effective when the students are extrinsically motivation
(4) Motivation does not have any role to play in learning




TR SR HIEH & o) H ST H HA-H HYT Gal © 2

(1) e a9 qure 2a1 € S 1 97 9 994 % wr a8 €
(2) HirE 9d grel B § Se wel § AT S g

(3) HiE a9 Y g § 56 B 9l ®9 § 9fd 36 €

(4) i@ H 9T ot i fHeR e 2 ¢

Options:-

.1, Option ID :- 117,

« 2, Option ID :- 118,

. 3, Option ID :- 119,

. 4, Option ID :- 120,
Answer Given:- 2, OptionID : -118

Subject : SS_P2_CTET
Question ID:- 91

Who believed that the result of our action is karma ?
(1) Mahavira

(2) Buddha

(3) Anagha

(4) Panini
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(1) weEER
(2) 95
(3) 37
(4)  TrforfR
Options:-

.1, Option ID :- 361,
« 2, Option ID :- 362,
. 3, Option ID :- 363,

. 4, Option ID :- 364,
Answer Given:- 2, Option ID : -362

Question ID:- 92




Who among the following authors wrote about Harshavardhana ?
(A) Ravikriti

(B) Xuan Zang

(C) Fa Xian

Options :

(1) (A) and (B) are correct

(2) (B) and (C) are correct

(3) (A) and (C) are correct

(4) (A), (B) and (C) are correct

(A) Tagfa

(B) SfeT S

(C) i f5am
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(1) (A) 3R (B) T& &

(2) (B) 3R (C) W&t ¥

(3) (A) 2R (C) T g

@) (A), (B) ¥R (C) W& §

Options:-

.1, Option ID :- 365,
. 2, Option ID :- 366,
. 3, Option ID :- 367,

. 4, Option ID :- 368,
Answer Given:- 3, Option ID : -367

Question ID:- 93

The Roman name for Arikamedu was :
(1) Poduca

(2) Pattala

(3) Sopatma

(4) Cana

(2) U
(3) HrgaHr
(4) =R

Options:-




.1, Option ID :- 369,
« 2, Option ID :- 370,
. 3, Option ID :- 371,

- 4, Option ID :- 372,
Answer Given:- 1, Option ID : -369

Question ID:- 94

Read the statements (A) and (B) on texts in ancient India and choose the correct option.
(A) The Puranas were meant to be heard by everybody, including women and shudras.
(B) Women and Shudras were not allowed to study the Vedas.

Options :

(1)  (A) is true but (B) is false

(2) (B) is true but (A) is false

(3) Both (A) and (B) are true

(4) Both (A) and (B) are false
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(4) (A) 99T (B) SHI TeTd &

Options:-

.1, Option ID :- 373,
« 2, Option ID :- 374,
. 3, Option ID :- 375,

. 4, Option ID :- 376,
Answer Given:- 3, Option ID : -375

Question ID:- 95

Who among the following founded the institution of Khalsa ?
(1) Guru Nanak

(2) Guru Arjan

(3) Guru Gobind Singh

(4) Guru Teg Bahadur




Frafafea § 9 e aremr e 1 fmor w2

() % TH
(2) T® A
(3) % Tiifeig fog
(4) % T TR
Options:-

.1, Option ID :- 377,
« 2, Option ID :- 378,
. 3, Option ID :- 379,

. 4, Option ID :- 380,
Answer Given:- 3, Option ID : -379

Question ID:- 96

Read statements (A) and (B) on 18 century rural Bengal, and choose the correct option.
Statement (A) : In 1770 a famine killed ten million people in Bengal.

Statement (B) : Artisans and peasants were in deep crisis after the East India Company became
the Diwan.

Options :

(1) (A) is true but (B) is false.
(2) (A) is false but (B) is true.

(3) Both (A) and (B) are true; and (B) is the precursor to (A).

(4) Both (A) and (B) are true but there is no relationship between the two statements.
HEd| U1l o UHY Fe T fEU 70 e (A) 3R (B) i iU 3R W@l fasmey g
HAT (A) : 1770 H TS S H S H TH HUS @Ml i Gog g |

WY (B) : FER IR fFAF = ifed St F <9m 599 F 9 TR U § % |
faerea

(1)  (A) 5@ & W= (B) T 2 |

(2) (A)7TeId € W (B) WE 2

(3) (A) 3R (B) Sl W&l € 91 (B), (A) & U8t A& |

(4) (A) 2TR (B) S WEt § 9% SH1 HAI & o9 I H9Y TE B |

Options:-

.1, Option ID :- 381,
. 2, Option ID :- 382,
. 3, Option ID :- 383,

. 4, Option ID :- 384,
Answer Given:- 2, Option ID : -382

Question ID:- 97




What were the reason(s) for restlessness of the sepoys in the employment of East India Company ?
(A) Rigid methods of revenue collection.

(B) High taxes.

(C) Passing of a law that recruits in the army had to travel overseas if required.

Choose the correct option.

(1) Only (A) and (B)

(2)  Only (B) and (C)
(3)  Only (C)

(4 (A) (B) and (C)

—

w2 2fea At & ded &9 %9 g fauifedi § ered & #2182

(A) TSRS IHA FHH & HE& qLF

(B) Il - WY &

(C) e e s o B H w1 T Arel B SR Y T TR IR off ST I ekt ¥
“ﬁmc—"?ﬂﬁ

(1) e (A) SR (B)

(2) 9 (B) 3 (O
(3) e (O

(4)  (A), (B) ¥R (C)

Options:-

.1, Option ID :- 385,
« 2, Option ID :- 386,
. 3, Option ID :- 387,

« 4, Option ID :- 388,
Answer Given:- 4, Option ID : -388

Question ID:- 98

In which of the given places were Universities being established in 1857 ?
(1) Delhi, Calcultta & Bombay

(2) Calcultta, Madras & Delhi

(3) Calcultta, Bombay & Madras

(4) Bombay, Delhi & Madras

T Tl 9T 149 1857 | Tavafaenarl &1 o= st o W& off ?

(2) eIk, G TS feee
(3) ek, At T HEH
(4) @, feeel ud He™




.1, Option ID :- 389,
. 2, Option ID :- 390,
. 3, Option ID :- 391,

- 4, Option ID :- 392,
Answer Given:- 3, Option ID : -391

Question ID:- 99

Read the statements (A) & (B) and choose the correct option.

(A) : In 1873, Jyotirao Phule wrote a book named Gulamgiri, which meant ‘Slavery’.
(B) : Phule dedicated his book to all those Americans who had fought to free slaves.
Options :

(1)  (A) is true but (B) is false

(2) (A) is false but (B) is true

(3) Both (A) & (B) are true

(4) Both (A) & (B) are false

e (A) TH (B) 1 ¢ qL1 Wel foreshed =l A |

(A) : 1873 H Sfaua et = AT e U fohda forat fomem s1ef € e |

(B) : A YA Y&k 37 W TR ol FHYA i TS=in el =l g foam & fo e o e
faerea -

(1) (A) W&l & foh=g (B) T |
(2) (A) TTeTa § g (B) WE
(3) =i (A) T (B) WE F
(4) @Ml (A) T (B) TTeTd E |
Options:-

.1, Option ID :- 393,
« 2, Option ID :- 394,
. 3, Option ID :- 395,

. 4, Option ID :- 396,
Answer Given:- 3, Option ID : -395

Question ID:- 100

Which of the pairs on reform organisation and their work is correctly matched ?
(1) The Singh Sabha - Freedom of thought

(2) The Aligarth Movement - Modern education

(3) The Prarthana Samaj - Drew upon only Hindu texts

(4) Veda Samaj - Inspired by Singh Sabha




1 | HATS GUR AR STk H1d o1 Sirel el § GHe o1 721 & 7
(1) THzg = - fa=ni i @

(2) eI SareE - i e

(3) TR HWHIS - hae feg deil | fa=m yrd sl o

(4) <8 HAN - fHg 991 | Uit o

Options:-

.1, Option ID :- 397,
« 2, Option ID :- 398,
. 3, Option ID :- 399,

. 4, Option ID :- 400,
Answer Given:- 2, Option ID : -398

Question ID:- 101

Consider the statements (A) and (B) on Indian industries and business during and after the 15
world war :

(A) : Indian industries expanded during the war.

(B) : Indian business groups began to demand greater opportunities for development.
Choose the correct option.

(1) (A) is true, (B) is false

(2) (A) is false, (B) is true

(3) Both (A) and (B) are true

(4) Both (A) and (B) are false

o fava 45 % SR Ud 39% A8 HIdIE e 3R MR & ded 7 (A) 3R (B) o 1 fo=m wifsm |
(A) : TS % M YR ST 1 faEar ol

(B) : WA e HyE, fasm o fau sifues 189 &1 7i &3 o |
frefafea § 9 wér fasey &1 =997 |

(1) (A) WEIE, (B) Toid 8

(2) (A) 7T & (B) W ©

(3) @i (A) T (B) I E

(4) S (A) T (B) oM &

Options:-

.1, Option ID :- 401,

« 2, Option ID :- 402,

. 3, Option ID :- 403,

. 4, Option ID :- 404,
Answer Given:- 3, Option ID : -403

Question ID:- 102




Match the following :

List -1 List - IT
(@) The Vernacular press Act (i) 1883
(b) Ilbert Bill (i) 1878
(c) Transfer of Property Act (i) 1885
(d) Formation of Indian National Congress (iv) 1882
Choose the correct answer of the following :
1) @-@), (b)), (©)-(i), (d)-(iv)
(2)  (@)-{), (b)-), (©)-(iv), (d)-(iii)
(3)  (a)-(ii), (b)- ( ) (©)-(), (d)-(1)
(4)  (a)-@v), (b)-(ii), (0)-(1), (d)-(ii)
Frfafas %1 faem wifsg
fae -1 foe - 11

(a) EiHeR UH T (1) 1883
(b) s foet () 1878
(c) Hrafd wFTaCr st (i) 1885
(d) AR UL HEE T (iv) 1882
ﬁm%rﬁaa 3 11'5"} R
(D @-), (b)-(i), (0)-(i), (d)-(iv)

(i)

( (a) ( ) (b)- () ( )-(1v), (d)-
(3)  (@)-(iii), (b)-(iv). (9)-(ii), (
(4 (@)-), (b)-(i1), (0)-(1), (d)-(iii)

Options:-

.1, Option ID :- 405,
« 2, Option ID :- 406,
. 3, Option ID :- 407,

. 4, Option ID :- 408,
Answer Given:- 2, Option ID : -406

Question ID:- 103

Which one of the following is a feature of our Constitution ?

(A) Adoption of universal adult franchise.

(B) Equal rights to all citizen.

(C) Special privileges for the socially disadvantaged Indian.
Choose the correct option.

(1) Only (A) and ( )
(2) Only (B) an

(3) Only (A) and ( )
(4) (A), (B)and (O)




Freferfaa # & i o s faferedn sar d@fauE 1 82
(A) HEITHF =45k HAER =] A

(B) Wl ANTIERT ohl HHA HAfHHR

(C) R o HaI& e afadi o foe fagrmfierr
@Wﬂﬁ

(1) o (A) 3R (B)

(2) %ad (B) 3R (O)
(3) I (A) SR (C)
(4) (A), (B) ¥R (C)

Options:-

.1, Option ID :- 409,
. 2, Option ID :- 410,
. 3, Option ID :- 411,

- 4, Option ID :- 412,
Answer Given:- 4, Option ID : -412

Question ID:- 104

The Maratha army was a powerful force that challenged the Mughals in the peninsula. The
soldiers were largely composed of persons from which of the following communities ?

(1) Kunbis

(2) Peshwas
(3) Chitpavan Brahmanas
(4) Deshmukhs

TRIST U1 Uk drekder 91 off 997 wregha | 7o i gl o | Sk sifuerien &9 3 fhg ggem 9 o
aTet Ao o ?

(1) FAfE

(2) GeEs

(3) T s
(4) e
Options:-

.1, Option ID :- 413,
. 2, Option ID :- 414,
. 3, Option ID :- 415,

« 4, Option ID :- 416,
Answer Given:- 2, Option ID : -414

Question ID:- 105




Which of the planets, given below, are correctly matched with their characterstic feature ?
(A) Jupiter - outer planet
(B) Earth - blue planet
(C) Venus - made of rocks
Options :
(1) Only (A) and (B)
Only (B) and (C)
(A) and (C)

(A) FEHfd - aT=I U
(B) gt ~ e &
(C) IEh-EHIFTAE
faweq -

(1) e (A) 3R (B)
(2) & (B) 3R (O)
(3) = (A) ¥R (C)
(4) (A), (B) ¥R (C)

Options:-

.1, Option ID :- 417,
« 2, Option ID :- 418,
. 3, Option ID :- 419,

- 4, Option ID :- 420,
Answer Given:- 4, Option ID : -420

Question ID:- 106

Which of the following is an example of Block Mountains ?
(1) Aravali

(2) Himalaya

(3)

(4) Appalachians

Vosges

=1 o 4 19 T YRy gl o 3 § 2
(1) sTaet

(2) fewea

(3) SISt

(4) eI

Options:-




.1, Option ID :- 421,
« 2, Option ID :- 422,
. 3, Option ID :- 423,

- 4, Option ID :- 424,
Answer Given:- 1, Option ID : -421

Question ID:- 107

Which of the following statements about days and nights on earth is/are true ?

(A) Days and nights on earth are due to revolution of the earth.

(B) Days and nights on earth are due to rotation of the earth.

(C) The longest day and the shortest night occurs on 21 June in the Northern Hemisphere.
Choose the correct option :

(1) (A) and (B) are true
(2) (B) and (C) are true
(3) (A) and (C) are true
(4) All (A), (B) and (C) are true

et o fe=i we el % 9 fou T weEi § § SF H/H G 72
(A) gt F ufra % HRo gedt R a1 o 2

(B) Yt % gu % FR0 gt W feT-u 5§

(C) S Tierg W 21 SH & Ty wen fed iR ged 9 ud a2

we faseq &l g Hif
(1) (A) )ﬂéﬁl
(2) C) W& £

(B)
3) (AT ( 143’1%1
@) (A), (B) @ (C) Bfi wE €

Options:-

.1, Option ID :- 425,
. 2, Option ID :- 426,
. 3, Option ID :- 427,

. 4, Option ID :- 428,
Answer Given:- 2, Option ID : -426

Question ID:- 108

Aman is travelling from Ranchi to Hyderabad. He is moving towards which direction ?
(1) North East
(2) North West
(3) South East
(4) South West




A el | BeUeE i A #R @ 81 oe e fem g s w §72

() WY

(2) W 9fE=H

(3) afem gE

(4) =feor gfv=Em
Options:-

.1, Option ID :- 429,
« 2, Option ID :- 430,
. 3, Option ID :- 431,

. 4, Option ID :- 432,
Answer Given:- 4, Option ID : -432

Question ID:- 109

The innermost layer of Earth’s core is made up of
(1) Silica and Alumina

(2) Silica and Magnesium

(3) Nickel and Iron

(4) Nickel and Magnesium

YAl % HR FIE H TIY AAF W T T 7 |
(1) Tafeer g wgfra &

(2) Tafes 3 f=ifoem |

(3) Ferara R d

(4) Trra g Sifoms |
Options:-

.1, Option ID :- 433,
. 2, Option ID :- 434,
. 3, Option ID :- 435,

. 4, Option ID :- 436,
Answer Given:- 1, Option ID : -433

Question ID:- 110

Which of the following rocks may contain fossils of plants, animals and other microorganisms that
once lived on them ?

(1) Igneous Rocks
(2) Sedimentary Rocks
(3)

(4)

Metamorphic Rocks
All of the above




T 1 9 o Sl § U], STel U o7 g&H Siare, Sl 37 el W@ ©, o SiarwH 9Ig S Hehd § 2

(1) & 9

(2) IRl A

(3) @M A

(4) W 9ot
Options:-

.1, Option ID :- 437,
« 2, Option ID :- 438,
. 3, Option ID :- 439,

. 4, Option ID :- 440,
Answer Given:- 4, Option ID : -440

Question ID:- 111

Consider following statements about rocks :

(A) There are two types of sedimentary rocks : intrusive and extrusive.

(B) Rocks formed from molten lava are called igneous rocks.

(C) Process of transformation of rock from one to another is known as the rock cycle.
Choose the correct option :

(1) Only (A) and (B) are correct

(2) Only (B) and (C) are correct

(3) Only (A) and (C) are correct

(4) All (A), (B) and (C) are correct

e & =R § f5u TU FHeA | faar Fifew

(A) STFEE 9 % S WER E ¢ qifdr IR afed
(B) wferd @ren ¥ o= arett Sel, ST St HEed € |
(C) w ¥ | gud I H uftad= 2 HI giRan 1 I = Fal Sl g
et fased =1 99 wifsu)

(1) e (A) 3R (B) T&l €1

(2) A (B) i (C) W E |

(3) Fad (A) 3 (C) T ¥

(4) (A), (B) 3R (C) |l =&t F

Options:-

.1, Option ID :- 441,

. 2, Option ID :- 442,

. 3, Option ID :- 443,

. 4, Option ID :- 444,
Answer Given:- 4, Option ID : -444

Question ID:- 112




Consider the following statements about winds and choose the appropriate option.
(A) A wind is named after the direction to which it blows.

(B) The wind blowing from the west is called westerly.

(C) Seasonal winds change their direction in different seasons.

Options :

) Only (A) and (B) are true

) Only (B) and (C) are true

3) Only (A) and (C) are true

) All (A), (B) and (C) are true

(1
2
(3

(4

TeHl o =i H U T4 Kol 1 ufgu qu1 SugEH farey = g Hifsu)
(A) TEA N AH IHE S i fewn F enur W i S g

(B) uf¥=rm & 21 aTelt 9ae i ufeardt (qge) 96T FEd | |

(C) Hradt g fafi= wgeii § 1ot fewn aeerdr wdt ¥

Tarenew -

(1) Had (A) 991 (B) T €

(2) HaA (B) ( ) TRl €l

(3) AW (A) T (C) T T

(4 (A),@®F mﬂ B
Options:-

.1, Option ID :- 445,
. 2, Option ID :- 446,
. 3, Option ID :- 447,

. 4, Option ID :- 448,
Answer Given:- 4, Option ID : -448

Question ID:- 113

Consider the following statements about Air pressure and choose the appropriate option.
(A) On the moon there is no air and hence no air pressure.

(B) Variation of temperature causes pressure differences in the atmosphere.

(C) Air always moves from high pressure areas to low pressure areas.

Options :

) Only (A) and (B) are true

)  Only (B) and (C) are true

3) Only (A) and (C) are true

) Al (A), (B) and (C) are true

(1
(2
(°

(4




a1 e H Helud HEHA| ol YieU qu1 Iuge foemed @1 gAre shifer
(A) =i WA & ¢ IAqua =& g @ off 78 8

(B) drgHed H aeE H it argHH H =i o FRw gl 7
(C) X Ted 3= @ & ¥ 707 e &5 i 37R T Rt 7

ferenew

(1) Had (A) 991 (B) T&l B

(2) (B) o1 (C) &l €1

(3) e (A) ( el |

4)  (A), (B) 71 (C) Tt W&l €1
Options:-

.1, Option ID :- 449,
« 2, Option ID :- 450,
. 3, Option ID :- 451,

- 4, Option ID :- 452,
Answer Given:- 3, Option ID : -451

Question ID:- 114

Consider the following statements about ‘Susu” - a dolphin found in River Ganga and River
Brahamputra.

(A) The presence of Susu is an indication of the health of the river.

(B) Susu ‘dolphins are becoming blind’ to adapt to the chemicals present in river water.
(C) The untreated industrial waste and urban waste are killing this species.

Choose the appropriate option :

(1) Only (A) and (B) are correct

( Only (B) and (C) are correct
(3) y (A) and (C) are correct
(4) (A), (B) and (C) are correct

-7 9 FRIA e § 9 9 96l U Siewd o a) § U w6 ufen
(A) ‘gg' =t suftufa ¥ 7 § 1 Y Y1 1 Tq1 T 2

(B) &I % 9 H 3ufera WA | oFH 8 & fou gy Sffew o 1 @1 2
(C) R Iy=nfia sienfirer ud el et 37 genfadl = T F @ 2
Wﬁmwwﬁ:

(1) Fa (A) 91 (B) T&l 1

(2) Had (B) a0 (C) TEI |

(3) e (A) T (C) FEl B |

@) T (A), (B) T (C) W&l €1

Options:-

.1, Option ID :- 453,
. 2, Option ID :- 454,




- 3, Option ID :- 455,

« 4, Option ID :- 456,
Answer Given:- 4, Option ID : -456

Question ID:- 115

Which of the following statements are true regarding ‘Silicon valley” and “Silicon plateau” ?
(A) Both are located in the same continent

(B) They are located in different continent

(C) Both are related with same economic activity

(D) Both have similar kind of locational advantages

Options :

(1) (A) and (C)

() (B)and (C )

(3)  (B), (C) and (D)
(4 (A), (C) and (D)

Frfafaa § & & 9w ‘ fofaess =@’ @ fafass 1er’ & Hel ¥ we 82
(A) 2 T & HRET W sEfied §)

(B) I T3 HElgdl WX S7aleerd ¢ |

(C) Tl U & o i i fafafy & wrag €

)

(D) <l <l WHF YehR % srafeefass @y fged ¥ |
Terenea

(1) (A) 3 (©)

(2) (B) &R ()

(3) (B), () ¥R (D)

(4 (A), (©) ¥R (D)

Options:-

.1, Option ID :- 457,
. 2, Option ID :- 458,
. 3, Option ID :- 459,

. 4, Option ID :- 460,
Answer Given:- 3, Option ID : -459

Question ID:- 116




Which of among the following features can be associated with hydel power project ?
( Displacement of local community

(B) Inundates low lying areas

(C) Expensive to set up

(D) Causes acid rain

(E) Promotes greenhouse effect

Choose the correct option.

(1) (A), (B)and (C)

(2 (B), (©) and (D)
(3 (A) (C) and (D)
(4)  (A) (©) and (E)

Frafafad § 9 oF o g S oz 9fEsm 9 Sest @1 s e @ 2
(A) THE THEE 1 faemE

(B) THe=1 &= =1 Stereera

(C) orfud & | e

(D) 37 ool Ul §

(E) =Rd & 9uE H gfg *iar €

nﬁtﬁwgﬁ

(1)  (A), (B) ¥R (C)
(2) (B), ( Q) &R (D)
(3) (A), (O ¥R (D)
(4) (A Q) ¥R (E)
Options:-

.1, Option ID :- 461,
« 2, Option ID :- 462,
. 3, Option ID :- 463,

. 4, Option ID :- 464,
Answer Given:- 4, Option ID : -464

Question ID:- 117

Read the following statements (A), (B) and (C).

(A) Ploughing parallel to the contours of a hill slope is called Mulching.
(B) Mulching helps to retain soil moisture,

(C) Through terrace farming soil erosion is reduced in steep slopes.
Choose the correct option :

(1) (A) and (B) are correct

(2) (B) and (C) are correct

(3) (A) and (C) are correct
(4)

4)  Only (C) is correct




== fau T el (A), (B) 941 (C) il U€ :

(A) T TerEl grel W §HE Eisdl & FHR S[dTs @l Afes T Fel Sl ¢ |
(B) wfe=T | a1 &1 STEa Teht W&l ¢ |

(C) afcsr wd g g BTe W geT SR HH B S §

el fashed =1 T HifSu |

(1) (A) 91 (B) et €1

(2) (B) 991 (C) T&I 2|

(3) (A) @91 (C) "l T

(4) IS (C) T T

Options:-

.1, Option ID :- 465,
. 2, Option ID :- 466,
. 3, Option ID :- 467,

. 4, Option ID :- 468,
Answer Given:- 1, Option ID : -465

Question ID:- 118

The following words were used by Jawaharlal Nehru to describe which Aspect of India - “Widest
tolerance of belief of custom and acknowledgement and encouragement of variety” ?

(1)  Unity in Diversity
(2) Ancient Civilization
(3) Cultural Heritage
(4) Spiritual life

SaTtard g% A fEfatad vieal 1 99 YR & fFE 1ee A foere & & foe e o - favers @i
N3l %1 TR T i el AR fafau =it Te=m iR g 2

(1) e H Tehdl

(2) 9T HeH

(3) TiERfas ¥

(4) smeAfeTR S

Options:-

.1, Option ID :- 469,
« 2, Option ID :- 470,
. 3, Option ID :- 471,

. 4, Option ID :- 472,
Answer Given:- 1, Option ID : -469

Question ID:- 119




What is the literal meaning of the term Dalit ?
(1) Stolen

(2) Broken

(3) Perished

(4) Repaired

‘gfera’ =1 nfege 219 T2

(1) =FuEAEs

(2) AT gaE g

(3) e fepan genm = frmmen g3
(4) HUHG for gau

Options:-

.1, Option ID :- 473,
« 2, Option ID :- 474,
. 3, Option ID :- 475,

. 4, Option ID :- 476,
Answer Given:- 2, Option ID : -474

Question ID:- 120

When was the Protection of women from Domestic Violence Act Passed ?

(1) 2014
(2) 1995
(3) 2005
(4) 2010

e fEe | gfeenei & i aren Uiy & o gem or?

(1) 2014
(2) 1995
(3) 2005
(4) 2010
Options:-

.1, Option ID :- 477,
. 2, Option ID :- 478,
. 3, Option ID :- 479,

. 4, Option ID :- 480,
Answer Given:- 4, Option ID : -480

Question ID:- 121




Which of the following laws was passed by the British government before Independence that still
exists in India ?

(1) Hindu Succession Act
(2) Rowlatt Act

(3) Hindu Marriage Act
(4) Sedition Act

Frefafaa § & F |1 #rE @daa g9 fafen SR gr it o 7= o s o1a off 9a § amp 82

(2) e TR

(3) feg foam sifufFam

(4) HEWH TR (TSEE 1 HHA)
Options:-

.1, Option ID :- 481,
. 2, Option ID :- 482,
« 3, Option ID :- 483,

. 4, Option ID :- 484,
Answer Given:- 3, Option ID : -483

Question ID:- 122

Consider the following reasons on why people prefer permanent and regular job :
(A) They can expect their job to continue for a longer period of time.

(B) They get a weekly off and national holidays.

(C) They get medical benefits.

Choose the appropriate option :

(1) Only (A) and (B)

(2) Only (B) and (C)

(3) Only (A) and (C)

(4) All (A), (B) and (C)

AR ¥ TR Frafhe | = wafea =60 od €, % 9 4 7 w5l #ufeu
(A) o 39T T@ THd & T 37! A1l &9 99 d% 9 el ¢ |

(B) I WIwifger & UEA Ual 9 ATy fHerd €

(C) % fafrea-ony g gn T

39 faered @1 g Hifew |

(1) aa (A) 47 (B)

2) k9 (B) 941 (Q)

3)  Had (A) 991 (C)

(
(
(4)  (A), (B) T (C) W+f




Options:-

.1, Option ID :- 485,
. 2, Option ID :- 486,
. 3, Option ID :- 487,

. 4, Option ID :- 488,
Answer Given:- 4, Option ID : -488

Question ID:- 123

Consider the following statements about employment in call centres :
(A) Working in a call centre is a traditional form of employment.

(B) A call centre is a centralised office that deals with problems and questions of consumers
regarding goods and services.

(C) Companies set up call centres in India because they easily get people who can speak English
and will work for lower wages.

Choose the appropriate option :

(1) (A) and (B) are true
(2) (B) and (C) are true
(3) (A) and (C) are true
(4) All (A), (B) and (C) are true

Frefafad st &1 Hia deti § TR % Ged ¥ 13
(A) it el | F1M HE TSR H1 UF WA 847 §
(B) it et U il U & STl Uk €l SiTe TR SusISH i aggel iR dansti 4 defea gremnst

AR gaTell | Heiferd STHHRT &t St & 1

(C) Hafr vRa B o101 et HeX et 8 Fiifer el e Siirsht diem arel i 1 907 9 F ool
@ ST § fige 5. €1

mgaaﬁmwfﬁaﬁﬁq:

(1) (A) @1 (B) W1 2|

(2) (B) @ (C) Tl F

(3) (AT Fl%"t%’l

(4) (A)() C) |eft @&t &1

Options:-

.1, Option ID :- 489,
« 2, Option ID :- 490,
« 3, Option ID :- 491,

« 4, Option ID :- 492,
Answer Given:- 1, Option ID : -489

Question ID:- 124




Nepal witnessed which kind of transformation in 2008 ?
(1) From Monarchy to Democracy
2)  From Democracy to Monarchy
3) From Monarchy to Aristocracy

(
(
(

4) From Aristocracy to Monarchy

el 1 2008 H forg qvE w1 ufiadq st ?
(1) TSk ¥ Eekas i a0

(2) epas § TS H WE

(3) SR § FHelad = qh

(

4) FoiHdd § TSaE H WE

Options:-

.1, Option ID :- 493,
« 2, Option ID :- 494,
. 3, Option ID :- 495,

. 4, Option ID :- 496,
Answer Given:- 2, Option ID : -494

Question ID:- 125

Which part of the Constitution is called the ‘Conscience of the Indian Constitution” ?
(1) Directive Principles of State Policy

2) Fundamental Duties

3) Universal adult Franchise

(
(
(4) Fundamental Rights

e F forg 9 1 RdE GiauE & ofauen’ 9 S e ?

(1) Hifd fdeer o
(2) Hifek A
(3) wEsifoE =k AR
(4) Hifees sifEeR
Options:-

.1, Option ID :- 497,
. 2, Option ID :- 498,
. 3, Option ID :- 499,

. 4, Option ID :- 500,
Answer Given:- 4, Option ID : -500

Question ID:- 126




Choose the correct statements from the following :

(A) Total number of elected members in the Rajya Sabha is 233.

(B) Total number of elected members in the Lok Sabha is 545.

(C) A total of ten members are nominated in the Rajya Sabha by President.

(D) Parliament of India consists of the President, the Rajya Sabha and the Lok Sabha.
Choose the correct option :

(1) (A) and (C)

(2 (B) and (D)
(3)  (A) and (D)
(4)  (B) and (C)
1= 4 9 =2 el = = it

(A) T g ¥ fraifaa sl &t @ dem 233 €

(B) @i |1 H Fraifaad el o1 $a e 545 B

(C) T 991 H Fd 10 97 W2fd g7 TG T i €1
(D) YRETE GO o F=<Rd g o, TEE § Wafd oiF o1 €

et fasred =1 JAE FeT |
(1) (A) 73 (C)

(2) (B) @1 (D)

(3) (A) 791 (D)

(4 (B) 9= (C)
Options:-

.1, Option ID :- 501,
« 2, Option ID :- 502,
. 3, Option ID :- 503,

- 4, Option ID :- 504,
Answer Given:- 2, Option ID : -502

Question ID:- 127

The four key players in the criminal justice system are :

(1) Police, defence lawyer, social activist and the judge

(2) NGO, defence lawyer, public prosecutor and the judge

(3) Police, public prosecutor, judge and people

(4) Police, public prosecutor, the defence lawyer and the judge




STTeeR < yomett H = wHE S ¥

(1) 3fer, 9=mE ua F gehic, e Frwd SR S

(2) TR HEHRT HSA, 996 UH & Fehid, @l ST S SR AR |
(3) qferd, s stferdiores, =mEmeie AR @i |

(4) ofers, i SIfvErse, 9919 9 & dehicl SR IR |

Options:-

.1, Option ID :- 505,
« 2, Option ID :- 506,
. 3, Option ID :- 507,

. 4, Option ID :- 508,
Answer Given:- 4, Option ID : -508

Question ID:- 128

The Sachar commission has examinal the social and economic conditions of which particular
community in India ?

(1) Sikh

(2) Muslim

(3) Women

(4) Transgender

T R 3 9IRd F R e & arifers iR anfeie feufa = femo fam 22
(1) Toa

(2 Hfem
(3) wfead
(4) UIMTE
Options:-

.1, Option ID :- 509,
« 2, Option ID :- 510,
. 3, Option ID :- 511,

. 4, Option ID :- 512,
Answer Given:- 3, Option ID : -511

Question ID:- 129




Read the following statements (A), (B) and (C) in the context of laws, and choose the appropriate
option.

(A) Minimum wages Act is necessary because many workers are denied fair wages by their
employers.

(B) Workers have no bargaining power so their rights need to be protected by minimum wage
act.

(C) Domestic workers rights are not protected under minimum wages act.

(1) Only (A) and (B) are true
(2) Only (B) and (C) are true
(3) Only (A) and (C) are true
(4) Al (A), (B) and (C) are true

feu Ta el (A), (B) 991 (C) =1 ufeq 91 3Uga fosheq &1 F1E $IfST :

(A) IFTH HETAM HA I SR & Fifeh Fgd WX Ao i 37 HieTeh el Hear 7el < & |
(B) TSIGY HIGETSI hl [iehd el T SHIGTE, =[AH e shi 5RI 37 SAEHR =i &7 8 Sl €1
(C) = He"arT sl 9 e Aend & fedi 1 & =& €t 21

Torenew -

(1) *Fad (A) 991 (B) T&l 1
(2) Ha (B) A (C) TEl )
(3) FaE (A) U1 (C) TE F
(

4) Tt (A), (B) @ (C) W& B

Options:-

.1, Option ID :- 513,
. 2, Option ID :- 514,
. 3, Option ID :- 515,

. 4, Option ID :- 516,
Answer Given:- 4, Option ID : -516

Question ID:- 130

Lata sells tea at 5 : 00 am. She then goes to fetch water from a far away well. After reaching home
she cooks food, washes clothes, cleans the house, sweeps and then goes off to purchase items for
her tea shop.

All this can be referred to as :
(1) Care work

(2) Double - burden

(3) House work

(4) Paid work




A YT 5 TS I AT & | I 918 T8 950 gL F FU Y T WA F A Sl B 1R U8 % 9 I8 @A
A &, FUS HId, T W I HEE B ¢, FS-TS1 FHLdl ¢ a9 98 ST 91 Hf g o (o JHE T
=l STl )

7E 9uft * &9 feafad fewan s g 2

(1) T@ve &

(2) TRU-9R

(3) T

(4) TS
Options:-

.1, Option ID :- 517,

. 2, Option ID :- 518,

. 3, Option ID :- 519,

. 4, Option ID :- 520,
Answer Given:- 3, Option ID : -519

Question ID:- 131

At the elementary level, social science teaching -

(A) develops skills of observation and categorisation.

(B) develops an understanding of how societies have changed over time.
(C) develops an understanding of social and economic problems of people.
Choose the appropriate option.

(1) Only (A) and ( )
() Only (B) an

(3) Only (A) and ( )
(4)  (A), (B) and (O

TR & T FHIS faam s

(A) U&T0 F SRR o 1Ll I R HE € |

(B) THA % WY-¥ WHS H FY uRadd gu E, it wua faswfaa wem
(C) @R =1 |iHIfSTh TF feleh THeat ol 99 faskfad & €|
39 Taeshed 4|

(1) ad (A) 41 (B)

(2) @ (B) @1 (C)

(3) e (A) 9 (C)

(4) (A), (B) =1 (C)

Options:-

.1, Option ID :- 521,

« 2, Option ID :- 522,

. 3, Option ID :- 523,
. 4, Option ID :- 524,




Answer Given:- 4, Option ID : -524

Question ID:- 132

Consider the following statements and choose the correct option.

Statement (I) : The distinction between history and the other social sciences lies in the former’s

focus on the studies of the past.

Statement (II) : History at the elementary level is only on concerned about important people,

events and dates in the past.
Options :
(1) Both (I) and (II) are true
(2) Statement (I) is false but (II) is true
(3) Both (I) and (II) are false
(4) Statement (I) is true but (II) is false

Frefafes wal ® faar & sk T fawey = =927 #:1 :

HYT (1) : =i v o= wrifes faami & se i Ie € T 3fiem orfia % svomam W hfea @ 2

HUA (I1) : YRIF TR W Sfaer 37did hael & Hewqul an, seTis ud fafe=i § gag ¥
faerea -

(1) (1) &R (1) I T &

(2) R (I) o © U (11) Jel

(3) U (I) SR (1) S T €

(4) YA (1) FEl & 9% (I1) TTed §

Options:-

.1, Option ID :- 525,

. 2, Option ID :- 526,

. 3, Option ID :- 527,

. 4, Option ID :- 528,
Answer Given:- 1, Option ID : -525

Question ID:- 133

Narratives are helpful in a social science class, to encourage
(1) Empathy

(2) Spirituality

(3) Obedience

(4) Reasoning




grTfees faa &1 e # guid i Wiedifed @ H 98 B § |

(1) wEgY

(2)  smETfaTRdl

(3) TR

(4) ek wifem
Options:-

.1, Option ID :- 529,
« 2, Option ID :- 530,
. 3, Option ID :- 531,

. 4, Option ID :- 532,
Answer Given:- 1, Option ID : -529

Question ID:- 134

If there is a situation in class where there is a difference of opinion on a topic, which of the following
methods would be most appropriate ?

(1) Lecture

(2) Games

(3) Discussion

(4) Reading the textbook

SR Fe H U fava W qade 1 fafa o= @ s &), Fefafead 9 9«6 @ gsfa sif o w2
(1) =I=H

(2) forerd

(3) ufeE=i

(4) HISIIER YeHl
Options:-

.1, Option ID :- 533,
« 2, Option ID :- 534,
. 3, Option ID :- 535,

« 4, Option ID :- 536,
Answer Given:- 3, Option ID : -535

Question ID:- 135

If a teacher of one state does not allow the learners coming from other states of India to answer in
classroom, he/she in infringing upon which fundamental right of the learners ?

(1) Right against exploitation

(2) Right to property

(3) Right to freedom

(4) Right to Constitutional Remedies




SR T T4 1 T Rd o T T3 o SAferTaeRdiel =i %a § I &1 i o1gafd 78 o € of 9%
sAfermeratet % forg genm sifirr #1 Seefee # @1/ §2

(1) =i o foreg =1 SfeeRR

(2) Hufd 1 AR

(3) TG 1 AfURR

(4) Haurfe SuEl &1 fusR
Options:-

.1, Option ID :- 537,

. 2, Option ID :- 538,

- 3, Option ID :- 539,

- 4, Option ID :- 540,
Answer Given:- 3, Option ID : -539

Question ID:- 136

The most effective method to teach inequity to the upper primary classes would be by :
(1) making them learn the constitutional provisions.

(2) giving a lecture on the poor in India.

(3) giving a project on income variations among various classes.

(

4)  assigning an observation report on impact of poverty on health and shelter.

T WAt wensti 1 S UgH 1 Afq GOEset @9 2

(1) S9! GAF JEum & SEH & g

(2) 9 T EH-EHT T SR <4 % 5N

(3) Tafu=1 =il & s =1 faformredi W HESH <4 % 51T

(4) TAE=e &% @ Ud g9 W UNE & S Agelh RO S FEl

Options:-

.1, Option ID :- 541,
« 2, Option ID :- 542,
. 3, Option ID :- 543,

. 4, Option ID :- 544,
Answer Given:- 1, Option ID : -541

Question ID:- 137




For a group discussion on ‘Conﬁ'onting Margina]jsation’, consider these two views.
View I: A teacher should make groups only on the basis of similar social background of students.

View Il : A teacher should instruct students to only talk about the laws and avoid discussing
real incidents of confrontation.

Choose the most appropriate option :
(1) Only I is relevant

(2) Only II is relevant

(3) Both I and II are relevant

(4) Neither I nor II are relevant

“erferarERTn | fage’ w s wrfes aftEst % fau <) fomml w o #ife

faam (1) : e Toee &1 Faw faenfel=i 6t 99m goyfd % snuR | & 998 s 9iey

feren (1) : foverss =1 farenfelai =t fder S =nfen fo6 @ Shaet =l W € ==t o6 oiR 39 Heifed awafa®s
A i =9 § o995 |

wfd 3oy faerea 1 =77 Hife -

(1) Fae (1) & wEiTs T

(2) HaE (1) & T ¥

(3) (1) R (1) S & wrefre E

@) (1) iR (1) 2 & w1 2

Options:-

.1, Option ID :- 545,
« 2, Option ID :- 546,
. 3, Option ID :- 547,

. 4, Option ID :- 548,
Answer Given:- 4, Option ID : -548

Question ID:- 138

Consider the following statements and choose the correct option.

Statement (I) : In direct instruction method the student is passive and the teacher directs the
course of learning,

Statement (II) : In inquiry method the students play an active role but the teacher decides the
conclusions.

Options :

(1) Statement (I) is false but (II) is true
(2) Both (I) and (II) are false

(3) Statement (I) is true but (II) is false
(4) Both (I) and (II) are true




Frfafas smaet W faar X R 9 fawey & =97 #:

HIF (1) : vl Fdw ugfa o faanedf ffer & & ud foems aaferm =61 g=nfea e e
wed (I1) : sFavn ugfa § faenedt wfra yfte frum € weg o 9r @ fofa =5 81
forerea :

(1) YA (1) Ted & 9% (1) &l &

(2) W () &R (1) S 7o §

(3) U (1) T T W (II) TTerd &

(4) wReM (1) 3R (1) ST wEl ¥

Options:-

.1, Option ID :- 549,
« 2, Option ID :- 550,
. 3, Option ID :- 551,

. 4, Option ID :- 552,
Answer Given:- 4, Option ID : -552

Question ID:- 139

Select the most appropriate learning outcome from a discussion and screening of a film on
marginalisation in a rural area.

Students will be able to
(1) identify features of village life.

(2) understand that rural areas are places of exploitation.
(3) develop general awareness.
(4) identify factors that lead to marginalisation.

7T &5 H FREET W U fhed faar IR afte=l § 26 arel 9aifus 3ugs sfyma-gfawe &1 =91
HIfS|

foremeft HaH 2|

(1) I Sfe i faemaed o gg=m |

(2) o Tefior & wivsor =R T B © @ wme o
(3) S =a il fosmfad # |

(4) EIRTEERY G5 o ST 9Tl 92 I 9 H

Options:-

.1, Option ID :- 553,
« 2, Option ID :- 554,
. 3, Option ID :- 555,

« 4, Option ID :- 556,
Answer Given:- 1, Option ID : -553

Question ID:- 140




Which of the following incidents violates the dignity of a child ?
(1) A teacher making a child attend classes without his shirt on as he is not in uniform.

(2) A teacher discussing with another teacher the difficulties faced by a child at home because of
neglect.

(3) A teacher asking a girl student to take up cycling to reach school.
(4) A teacher asking a child to apologise to the class for using abusive language.

Frefafaa #§ | %1 d =2 uF 9= i T w5 2 Tgand ¢ 2

(1) Toees s 5= & fod &S (98) o wansii H @A &1 Fedl & aiieh 98 JHEH 5 981 o1

(2) Torerer U =3 GRS W 39 & HRY ST B Al HiSAEA 1 HEA F W F 37 e F
1 == R @ T

(3) T forares N I WEfERA §R TR YeaT & fo e ¥

(4) Toreres T 9= 1 §ug 9T F WA o forw wen & ey Ty % fAw wear 2

Options:-

.1, Option ID :- 557,
« 2, Option ID :- 558,
. 3, Option ID :- 559,

. 4, Option ID :- 560,
Answer Given:- 4, Option ID : -560

Question ID:- 141

To teach about monuments through a field trip, to elementary school students, which of the
fo]lowing criteria are relevant ?

(A) It should be related to a monument under discussion in a class.
(B) The expense should be low and not too far.

(C) It should provide a direct experience.

Choose the appropriate option.

(1) Only (A) and (B)

(2) Only (A) and (C)

(3) Only (B) and (C)

(4 (4A) (B) and (C)




Wi T 3 faenfed a0 A (Fies fo) % e & e % an H e % fon Frefatea § 9
I | HEGS YETH &7

(A) TH F9-TRE W == 2 @ ¢ 3HY Hatyd 8H =y

(B) &l %H B =feT iR sifies X & 2 =nfen |

(C) 38 Y% IVE e LN =1 |

S99 ke 91

(1) *ad (A) 3R (B)

(2) Ed@ (A) 3R (Q)
(3) e (B) 3R (O)
(4 (A), (B) ¥ (O)

Options:-

.1, Option ID :- 561,
« 2, Option ID :- 562,
. 3, Option ID :- 563,

. 4, Option ID :- 564,
Answer Given:- 4, Option ID : -564

Question ID:- 142

Which of the following statement is not a characteristic of a democratic classroom ?
(1) Students decide the agenda for classroom activities.

(2) Students only listen and follow teacher’s instructions.
(3)

(

4) Students could question and evaluate the learning task.

Students express their views freely.

91 H 9§ FE-H1 YA Adiiseh Heehe hi faurdr el & 2
(1) Torendt sen =i fafafi 29 wrima &1 o= e €1
(2) forneff Faa foses =1 g7 € 7 37 FE9 w1 oo w5 §)

(3) forendf sto fo=mi =6 wdaagds st € |

(4) forneff siferma 1 W w9 99 Wehd ¥ 3R SHET SThe Y Hhd © |

Options:-

.1, Option ID :- 565,
. 2, Option ID :- 566,
. 3, Option ID :- 567,

. 4, Option ID :- 568,
Answer Given:- 2, Option ID : -566

Question ID:- 143




Consider the following statements and choose the correct option.

Statement I:  In order to discuss different dimensions of social reality in the class, the approach
to teaching of social sciences needs to be open-ended.

Statement I : Issues of social conflict need not be discussed in class as students may find it
difficult to understand.

Options :

(1) Statement I is true but II is false
(2) Both Statements I and II are false
(3)

(

4) Both Statements I and II are true

Statement 1 is false but II is true

Frefafes wae w fagr #1998 fawey &1 =979 &)

®ReA [ IS anifaehal = fafiy= sl 9t e § == % fou, gmfSes fagm ey & 3w
1 Ged 3 =1l BT STAv |

HUF 11: IS f9a1g o AHcl 92 el H 9=l 781 il A0 il fornfe=i =l 36 93 § hieTs
REEn

faerea :

(1) oheT 1T T 90 11 e ©

(2) REF 1 R 11 SH1 o €

(3) YA I T € 9% 11§l ©

(4) YT I AR 11 ST HE §

2

Options:-

.1, Option ID :- 569,
« 2, Option ID :- 570,
. 3, Option ID :- 571,

« 4, Option ID :- 572,
Answer Given:- 1, Option ID : -569

Question ID:- 144

A secondary source includes,

(1) A letter by Bhagat Singh

(2) A newspaper clipping from March 1931
(3) A textbook on Indian revolutionaries

(4) A photograph of Bhagat Singh in jail




(1) 9a fHe gra foren 7 o 9=

(2) WA 1931 % TH STEAR HI A
(3) WRGE SHifdeIREl W IS
(4) wd TH52 &I R H FE
Options:-

.1, Option ID :- 573,

. 2, Option ID :- 574,

. 3, Option ID :- 575,

. 4, Option ID :- 576,
Answer Given:- 4, Option ID : -576

Question ID:- 145

The ‘cultural capital’ of a student consists of :

(1) educational background of the family

(2) historical places that the learner has visited

(3) financial assests in rural as well as urban areas

(4) availability of digital devices during COVID 19 pandemic

ue; Tamnedf =1 ‘ Giwnfas Isit’ &= St €

(1) TfEr =t e goufa 9

(2) TR Ufqerye Tl § Sl sl 3 ye fE

(3) umor we Sl i H farca Rt |

(4) RIfeE 19 WM & A fefSea sushtol i 3ucrear |

Options:-

.1, Option ID :- 577,
« 2, Option ID :- 578,
. 3, Option ID :- 579,

. 4, Option ID :- 580,
Answer Given:- 2, Option ID : -578

Question ID:- 146

What is the purpose for assessing students in social sciences ?
(1) To ensure discipline in society

(2) To know student’s understanding and capabilities

(3) To make students complete their homework

(4) To prepare students for examination




qifee fagm # faenfi=i & stieeT = se =i &2
(1) FHTS H SR &9 @A & fau |

(2) foenfefi =t Tmer oI e SR & faw)
(3) fornfeli | ewmE QU wEH @ fau )

(4) femnferd =1 gdien & fau dar w0 & fog |
Options:-

.1, Option ID :- 581,
« 2, Option ID :- 582,
. 3, Option ID :- 583,

. 4, Option ID :- 584,
Answer Given:- 2, Option ID : -582

Question ID:- 147

What kind of assessment is required to find the misconceptions on the topic of globe, among class
VI children at the end of the year ?

(1) Formative assessment
(2) Summative assessment
(3)  Self assessment

(4) Peer assessment

el & 33d H el VI & =1 ° Ted fad 9 yifadi @ F1d 6 & AU R YR %+ etide Sl SAayadd
7

1) TACHS ik

(

(2) ANTCHE SheH
(3) @ HAleher

(4) HEUR! ke
Options:-

.1, Option ID :- 585,
« 2, Option ID :- 586,
. 3, Option ID :- 587,

. 4, Option ID :- 588,
Answer Given:- 1, Option ID : -585

Question ID:- 148

Which of the following questions seeks to find the reasoning abilities of students ?
(1) The type and thickness of vegetation changes from place to place, why ?

(2) Name two hardwood trees commonly found in tropical evergreen forest

(3) Mention uses of coniferous forest

(4) Where are thorny bushes found ?




Frefafaa gt § J % 91 yea faenfefi &t fad=m ammmeti = o w3 =med g2
(1) Fr=-fus o ) gaefa g iR vR § o 9ited @ g, =i 2

(2) SOrEHfCEHT TEEER 99 H AR W T S 9T €1 §¢ IS g&i % A Fan |
(3) TFHUR =7 o IUANT T FUA HITeT |

(4)  heiell afea el wE S § 2

Options:-

.1, Option ID :- 589,
« 2, Option ID :- 590,
. 3, Option ID :- 591,

. 4, Option ID :- 592,
Answer Given:- 1, Option ID : -589

Question ID:- 149

A social science teacher asks students to write their views on the topic “Life without rights”. After
they have completed the task, she asks them to share their write up with their classmates, who
then suggest improvements. What evaluation strategy is the teacher using here ?

(1) Peer assessment

(2) Group assessment
(3)  Self assessment
(

4)  Portfolio assessment

T Amifses fagm fafaen arom faenfe= = e & fom sitem ! faoa w) s1oe fa=em faes it wedt
T T F F 9% fawnedf o7 o o7 Hewfedl & WY HE Fd € S IH FHR H == w9 B
g W et S O geisa wrEifa 1 swme = @ 2

(1) HBIET ke

(2) THE AT
(3) TA-3fishe

(4) UREIEE fhed
Options:-

.1, Option ID :- 593,

« 2, Option ID :- 594,

. 3, Option ID :- 595,

« 4, Option ID :- 596,
Answer Given:- 1, Option ID : -593

Question ID:- 150

Which of the following is a necessary concept to have an understanding of days and night on
earth ?

(1) Insolation

(2) Rotation

(3) Revolution

(4) Inclination of the earth




qet WX T Ta 59 it 99e B e H | A i SauRon Saee 7

Options:-

.1, Option ID :- 597,
. 2, Option ID :- 598,
. 3, Option ID :- 599,

. 4, Option ID :- 600,
Answer Given:- 2, Option ID : -598

Subject : HIN_Q91-99_L1_P2_CTET

Question ID:- 181

et few T TenyT i sAdeE ufeu qen U T uyH o fore v sugen faseu T wes
I |

THE HIF, 918 98 Tifcheh 81 U1 SeAfcH, T % 0 H § | gyl 9% YN 7 e
TR Al 1 ST S STeR0r Hi- R ged Sl €, 9 §H %ed © o T EHE W | S 5
sTfeshTT st fofan St Sl &, @ii-= 89 1 &1 gfg 2l sl 81 579 9997 W | 98 s
TSN ST T@T ¥ | IE o7 Al i arian siferm A1 & IR 57/ T 98 STaw q8--1% Ie g
2, o ol ¥ 1 e R W g7 IR qU §2 W §, 9% Hed, Haeel @ S €1 = Teew F
Zhe H S & o[, 79 59 ° f[fed # 3R ggme =1 3Eus SR E a8 g6 g, S 39 FEiTE w6
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Options:-

.1, Option ID :- 721,
. 2, Option ID :- 722,
. 3, Option ID :- 723,

. 4, Option ID :- 724,
Answer Given:- 4, Option ID : -724

Question ID:- 182
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Options:-

.1, Option ID :- 725,
« 2, Option ID :- 726,
. 3, Option ID :- 727,

« 4, Option ID :- 728,
Answer Given:- 1, Option ID : -725

Question ID:- 183
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YRR o ST & 1 @t I SR gelt wifemEt o) €, e foe wifee, uefa o e a1 9w #ed
& we Sfic & €| T AT | HW T ST €1 S S HATG el § 93 o s e
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‘st o e ¥ -
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Options:-

.1, Option ID :- 729,
« 2, Option ID :- 730,
. 3, Option ID :- 731,

. 4, Option ID :- 732,
Answer Given:- 2, Option ID : -730

Question ID:- 184
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2, SHY 1 9% 9 Wohe a1 §, T iR 3@ e ¥

Y ffed A F qET H TE R -
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3)  Yer ¥ fadt i |

(
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(4) UL I =HE 9

4
Options:-

.1, Option ID :- 733,
« 2, Option ID :- 734,
. 3, Option ID :- 735,

« 4, Option ID :- 736,
Answer Given:- 1, Option ID : -733

Question ID:- 185
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Options:-

.1, Option ID :- 737,
« 2, Option ID :- 738,
. 3, Option ID :- 739,

« 4, Option ID :- 740,
Answer Given:- 3, Option ID : -739

Question

ID:- 186
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TR R ZaT & 1 Tt e iR el wifsat ofiee € wn 5 o, wohfa & wE A s FEa &,
a4 ud fict & E | T Y AT W@ AW T S SN S A HAG e § T o s Frfed
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Options:-

.1, Option ID :- 741,
. 2, Option ID :- 742,
. 3, Option ID :- 743,

- 4, Option ID :- 744,
Answer Given:- 3, Option ID : -743

Question ID:- 187
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Options:-

.1, Option ID :- 745,
« 2, Option ID :- 746,
. 3, Option ID :- 747,

« 4, Option ID :- 748,
Answer Given:- 3, Option ID : -747

Question ID:- 188
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e T @t % gge, 79 79 | ffed ¥ 9 gema =1 e ro1 & a8 967 €, S 39 S
TR R ZaT & 1 Tt e iR el wifsat ofiee € wn 5 o, wohfa & wE A s FEa &,
a4 ud fict & E | T Y AT W@ AW T S SN S A HAG e § T o s Frfed
2, 351 %1 9% 9T Wehe Il €, A9 ofie S Ure ¥

TR A I -
(1) S

(2) e

(3) AR
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Options:-

.1, Option ID :- 749,
« 2, Option ID :- 750,
. 3, Option ID :- 751,

« 4, Option ID :- 752,
Answer Given:- 4, Option ID : -752

Question ID:- 189
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TeRITO = 2T &1 Tt e iR el wifsrat ofiee € en 5 o, oo & e s FEa &,
a4 ud fict & E | T Y AT W@ AW T S SN S A HAG e § T o s Frfed
?, SH1 1 9% 9% Yohe 1 €, T il @ U ¥
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(1) S 9d F© T &
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(3) S WY el ST @
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Options:-

.1, Option ID :- 753,
« 2, Option ID :- 754,
. 3, Option ID :- 755,

. 4, Option ID :- 756,
Answer Given:- 3, Option ID : -755

Subject : HIN_Q100-105_L1_P2_CTET

Question ID:- 190




= fou Tu venyr ot sagee ufen @ U e wes & fore v Iuga faenew & wem
HhifeTa |
wifed df @l agHE
o S et
G- i M I,
ferfepforar € siterramet |
Iedt iHT dere Ty
el |l died-died |
=it 2Ra 40 & 3 W
et =t it g e

Options:-

.1, Option ID :- 757,
« 2, Option ID :- 758,
. 3, Option ID :- 759,

. 4, Option ID :- 760,
Answer Given:- 4, Option ID : -760

Question ID:- 191
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Options:-
.1, Option ID :-

. 2, Option ID :-
. 3, Option ID :-

. 4, Option ID :-
Answer Given:- 3, Option ID : -763

761,
762,
763,
764,

HhifTa |

Question ID:- 192
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Options:-

(1) ad 31l =t ©
(2) THOHA U T ®

(3) et el B T
(4) = el & T @

.1, Option ID :- 765,

« 2, Option ID :- 766,

. 3, Option ID :- 767,

. 4, Option ID :- 768,
Answer Given:- 1, Option ID : -765

Question ID:- 193
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Options:-
.1, Option ID :- 769,
« 2, Option ID :- 770,

. 3, Option ID :- 771,

. 4, Option ID :- 772,
Answer Given:- 3, Option ID : -771

Question ID:- 194
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(4)  dref-dieft

Options:-

.1, Option ID :- 773,

« 2, Option ID :- 774,

. 3, Option ID :- 775,

. 4, Option ID :- 776,
Answer Given:- 2, Option ID : -774

Question ID:- 195




= fou o venyr o sargde ufew e U e wew & fore v Sugan faeew W wee
hifeTa |
it H et Sge
TS -7 | @t |
ST &1 FM
fehfeRforT € wiemamett |
Iedt i+t deraR Ty
AT Tl et -t |
o 2@ 90 g gl @
Hiem =1 i drdr it |

Options:-

.1, Option ID :- 777,
« 2, Option ID :- 778,
« 3, Option ID :- 779,

. 4, Option ID :- 780,
Answer Given:- 3, Option ID : -779

Subject : HIN_Q106-120_L1_P2_CTET

Question ID:- 196

Frefafea 4 9 HH-4 Iy S 22
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Options:-

.1, Option ID :- 781,
« 2, Option ID :- 782,
. 3, Option ID :- 783,

« 4, Option ID :- 784,
Answer Given:- 2, Option ID : -782

Question ID:- 197
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Options:-

.1, Option ID :- 785,
« 2, Option ID :- 786,
. 3, Option ID :- 787,

. 4, Option ID :- 788,
Answer Given:- 3, Option ID : -787

Question ID:- 198
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Options:-

.1, Option ID :- 789,
« 2, Option ID :- 790,
. 3, Option ID :- 791,

. 4, Option ID :- 792,
Answer Given:- 3, Option ID : -791

Question ID:- 199
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Options:-




.1, Option ID :- 793,

. 2, Option ID :-
. 3, Option ID :-
. 4, Option ID :-

Answer Given

794,
795,

796,
:- 2, Option ID : -794

Question ID:-

200
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Options:-

2)  HA T Wed § § T
3) foen o fgeta s
4) 39 kAT 9

.1, Option ID :- 797,

. 2, Option ID :-
. 3, Option ID :-
. 4, Option ID :-

Answer Given

798,
799,

800,
:- 4, Option ID : -800

Question ID:-
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Options:-

.1, Option ID :- 801,

. 2, Option ID :-
. 3, Option ID :-
. 4, Option ID :-

802,
803,
804,

Answer Given:- 2, Option ID : -802

Question ID:- 202
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T SEe &
ek SR e 8
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Options:-

.1, Option ID :- 805,

806,

. 3, Option ID :- 807,

:- 808,
:- 1, Option ID : -805

« 2, Option ID :-

. 4, Option ID
Answer Given

Question ID:- 203
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Options:-
.1, Option ID :- 809,

2
(3
(4

. 2, Option ID :-
. 3, Option ID :-

. 4, Option ID

810,
811,
- 812,

Answer Given:- 3, Option ID : -811

Question ID:- 204
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(C) weher forenedt =1 zrg s/ % fera foran san © foF oen & 9o o o799 98 %@ B
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Options:-

.1, Option ID :- 813,
. 2, Option ID :- 814,
. 3, Option ID :- 815,




. 4, Option ID :- 816,
Answer Given:- 2, Option ID : -814

Question ID:- 205
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(1) st g3 & s=ia

(2) fermerd fen & sifaes =won |

(3) At =R H we Al faweq & 9 F

(4) wigfHe =0 § gt 9= &% fo v 9 % ' o

Options:-

.1, Option ID :- 817,
« 2, Option ID :- 818,
. 3, Option ID :- 819,

. 4, Option ID :- 820,
Answer Given:- 1, Option ID : -817

Question ID:- 206
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Options:-

.1, Option ID :- 821,
. 2, Option ID :- 822,
. 3, Option ID :- 823,

. 4, Option ID :- 824,
Answer Given:- 4, Option ID : -824

Question ID:- 207
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Options:-

.1, Option ID :- 825,
« 2, Option ID :- 826,
. 3, Option ID :- 827,

. 4, Option ID :- 828,
Answer Given:- 3, Option ID : -827
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Options:-

.1, Option ID :- 829,
« 2, Option ID :- 830,
. 3, Option ID :- 831,

. 4, Option ID :- 832,
Answer Given:- 1, Option ID : -829

Question ID:- 209
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Options:-

.1, Option ID :- 833,
. 2, Option ID :- 834,
. 3, Option ID :- 835,

. 4, Option ID :- 836,
Answer Given:- 4, Option ID : -836

Question ID:- 210
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Options:-

.1, Option ID :- 837,

. 2, Option ID :- 838,

. 3, Option ID :- 839,

. 4, Option ID :- 840,
Answer Given:- 2, Option ID : -838

2)  oFTgEeER feafaai o o= &9 9 e st
3)  ArvEes feafadi H w9aq ®9 F wrm sAferm

Subject : Sanskrit_Q121-128_L2_P2_CTET

Question ID:- 331
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Frmtamr faeten wa a1 59 ante forr fovameg = yami Sefrrr weene smanfa | srvie Seferta
I sgyger 9| sEHares e faw: | wyaemEn oY 96 SaenTE gutya: o1 )
Tepmeemmeh st faesia: wiaw | aRfieh: e 99 feaeraud=< drg |amn: | T
HeerrEy faw add |
qRaeye o aeg fagermesri add ?

(1) &M

(2) SHEER
(3) wrEEIEE
(4) ¥HH=H
Options:-

.1, Option ID :- 1321,

. 2, Option ID :- 1322,

. 3, Option ID :- 1323,

. 4, Option ID :- 1324,
Answer Given:- 3, Option ID : -1323

Question ID:- 332




YRR areT favafar fava w@ifrd | yraes= greafee fagars fafay-faemrs
=1 | AT T, Wi Halchsa 9 A e draad, $fug faeeraf gmmges FHidas =3
sirsfvaET= A= | Uy FS{eEeneesiH afvld deqaian e | g fammmiy
FRATEEAT ST | SAH YIgyiE: TR Faygd YRaay TEIYEd | sy SAHiaeme,
Brrmfafaerers, wfae = fawm: yraet vaved sEdfEfdae @ifmad | e aoiH ag
THEY HETHRG S9els2id o SEmiyEd o Rreaemersfy yrdae st wfaesed |

i Tt fawisTmfa aq o wifa: &3 711 | YRaay 5 21 a9 59 aul
Frofam fasien wa af= 1 52 amda o forame =y wam S2frre weene emanfa | srvde Sefemmta
I sgyger 9| sEHares e faw: | wyaemEn oY 96 SaenTE gutya: o1 )
fermeimeme: e facdv: g | efteh: s 99 feaeraud=i g 9&mn: | T
HeerrEy faw add |

Options:-

.1, Option ID :- 1325,
. 2, Option ID :- 1326,
. 3, Option ID :- 1327,

. 4, Option ID :- 1328,
Answer Given:- 2, Option ID : -1326

Question ID:- 333




Freafafad e ufser wear ashfed saafor gt

YRR areT favafar fava w@ifwad | yraes= greafed fagars fafay-faemrrs
=1 | AT HEwd, WS Halchsa 9 A had drRaay, $fug faeeraf gmmges FHidar =3
sirsfvaET= A= | Uy FS{eEeneesiH afvld deqaian e | g fammmiy
FRATEEAT ST | SAH YIgyiE: TR Faygd YRaay TEIYEd | sy SAHiaeme,
Brrmfafaerers, wfae = fawm: yraet vaved sEdfEfdae @ifmad | e aoiH ag
THEY HETHRG S9els2id o SEmiyEd o Rreaemersfy yrdae st wfaesed |

i Tt fawisTmfa aq o wifa: &3 711 | YRaay 5 21 a9 59 aul
Frofam fasien wa af= 1 52 amda o forame =y wam S2frre weene emanfa | srvde Sefemmta
I sgyger 9| sEHaress e faw: | e 1Y 96 SaeroH gutya: o1 )
formememeh Taveon fagena: wiaw | aefvek: wreEre: a9 feachod<i dig 9&mn: | T
HeerrEy faw add |

sfafaforae foaem: ®iar wifed Sfewraesyad ?

Options:-

.1, Option ID :- 1329,
. 2, Option ID :- 1330,
. 3, Option ID :- 1331,

. 4, Option ID :- 1332,
Answer Given:- 2, Option ID : -1330

Question ID:- 334




Freafafad e ufsear g adfed sTafr gt

YRR areT favafar fava w@ifrd | yraes= greafee fagars fafay-faemrs
=1 | AT T, Wi Halchsa 9 A e draad, $fug faeeraf gmmges FHidas =3
sirsfvaET= A= | Uy FS{eEeneesiH afvld deqaian e | g fammmiy
FRATEEAT ST | SAH YIgyiE: TR Faygd YRaay TEIYEd | sy SAHiaeme,
Brrmfafaerers, wfae = fawm: yraet vaved sEdfEfdae @ifmad | e aoiH ag
THEY HETHRG S9els2id o SEmiyEd o Rreaemersfy yrdae st wfaesed |

i Tt fawisTmfa aq o wifa: &3 711 | YRaay 5 21 a9 59 aul
Frofam fasien wa af= 1 52 amda o forame =y wam S2frre weene emanfa | srvde Sefemmta
I sgyger 9| sEHares e faw: | wyaemEn oY 96 SaenTE gutya: o1 )
fermeimeme: e facdv: g | efteh: s 99 feaeraud=i g 9&mn: | T
HeerrEy faw add |

" yraet sty freeme st gfaeed | 3 o wEmiiEd 2
(1) fFregefsE

(2) ehifeeae srefumem

(3) THEU-HEIHRAE!: T

(4) GUETEERY:

Options:-

.1, Option ID :- 1333,

. 2, Option ID :- 1334,

. 3, Option ID :- 1335,

. 4, Option ID :- 1336,
Answer Given:- 3, Option ID : -1335

4

Question ID:- 335




Frefefad et afewr wearT et swfor St

=1

A EhdHe favaf fava wifRad | e grEiaries fagamrsr fafay-famms
| ASHT T, WHHE HalchPed 9 7 Hhad aiaey, Afg faesaft gumyds ffdea 5

sirsfvaET= A= | Uy FS{eEeneesiH afvld deqaian e | g fammmiy
FRATEEAT ST | SAH YIgyiE: TR Faygd YRaay TEIYEd | sy SAHiaeme,
Brrmfafaerers, wfae = fawm: yraet vaved sEdfEfdae @ifmad | e aoiH ag
THEY HETHRG S9els2id o SEmiyEd o Rreaemersfy yrdae st wfaesed |

i Tt fawisTmfa aq o wifa: &3 711 | YRaay 5 21 a9 59 aul

Frotar fagein va uf= 1 53 ame forn foreme =/ wom ST wew S | eyehe St

I

qRIF Gfd | srEHarEEs o faw: | e oify 59 s qufsn w1

formeimore: e facdv: wiaw | efteh: s 99 feaeraud= dig 9&mn: | T
ety e Jdd |

$EMIH 37T ol Fomar add 2

(1)
(2)
(3)
(4)

2 FhTSIa Halehy 7 9 |
STETRY, SEURT: YAIfd = it |

ST SEE AT aHd |

HYAEE 3319 o 9 HROA qUiga S |

Options:-

.1, Option ID :- 1337,
. 2, Option ID :- 1338,
. 3, Option ID :- 1339,

. 4, Option ID :- 1340,
Answer Given:- 4, Option ID : -1340

Question ID:- 336




Freafafad e ufsear g adfed sTafr gt

YRR areT favafar fava w@ifrd | yraes= greafee fagars fafay-faemrs
=1 | AT T, Wi Halchsa 9 A e draad, $fug faeeraf gmmges FHidas =3
sirsfvaET= A= | Uy FS{eEeneesiH afvld deqaian e | g fammmiy
FRATEEAT ST | SAH YIgyiE: TR Faygd YRaay TEIYEd | sy SAHiaeme,
Brrmfafaerers, wfae = fawm: yraet vaved sEdfEfdae @ifmad | e aoiH ag
THEY HETHRG S9els2id o SEmiyEd o Rreaemersfy yrdae st wfaesed |

i Tt fawisTmfa aq o wifa: &3 711 | YRaay 5 21 a9 59 aul
Frofam fasien wa af= 1 52 amda o forame =y wam S2frre weene emanfa | srvde Sefemmta
I sgyger 9| sEHares e faw: | wyaemEn oY 96 SaenTE gutya: o1 )
fermeimeme: e facdv: g | efteh: s 99 feaeraud=i g 9&mn: | T
HeerrEy faw add |

Options:-

.1, Option ID :- 1341,
. 2, Option ID :- 1342,
. 3, Option ID :- 1343,

. 4, Option ID :- 1344,
Answer Given:- 1, Option ID : -1341

Question ID:- 337




Freafafad e ufser wear ashfed saafor gt

YRR areT favafar fava w@ifwad | yraes= greafed fagars fafay-faemrrs
=1 | AT HEwd, WS Halchsa 9 A had drRaay, $fug faeeraf gmmges FHidar =3
sirsfvaET= A= | Uy FS{eEeneesiH afvld deqaian e | g fammmiy
FRATEEAT ST | SAH YIgyiE: TR Faygd YRaay TEIYEd | sy SAHiaeme,
Brrmfafaerers, wfae = fawm: yraet vaved sEdfEfdae @ifmad | e aoiH ag
THEY HETHRG S9els2id o SEmiyEd o Rreaemersfy yrdae st wfaesed |

i Tt fawisTmfa aq o wifa: &3 711 | YRaay 5 21 a9 59 aul
Frofam fasien wa af= 1 52 amda o forame =y wam S2frre weene emanfa | srvde Sefemmta
I sgyger 9| sEHaress e faw: | e 1Y 96 SaeroH gutya: o1 )
formememeh Taveon fagena: wiaw | aefvek: wreEre: a9 feachod<i dig 9&mn: | T
HeerrEy faw add |

‘e e wiafaeed 3% -
1) &+ SR

Options:-

.1, Option ID :- 1345,
. 2, Option ID :- 1346,
. 3, Option ID :- 1347,

. 4, Option ID :- 1348,
Answer Given:- 2, Option ID : -1346

Question ID:- 338




Freafafad e ufser wear ashfed saafor gt

YRR areT favafar fava w@ifwad | yraes= greafed fagars fafay-faemrrs
=1 | AT HEwd, WS Halchsa 9 A had drRaay, $fug faeeraf gmmges FHidar =3
sirsfvaET= A= | Uy FS{eEeneesiH afvld deqaian e | g fammmiy
FRATEEAT ST | SAH YIgyiE: TR Faygd YRaay TEIYEd | sy SAHiaeme,
Brrmfafaerers, wfae = fawm: yraet vaved sEdfEfdae @ifmad | e aoiH ag
THEY HETHRG S9els2id o SEmiyEd o Rreaemersfy yrdae st wfaesed |

i Tt fawisTmfa aq o wifa: &3 711 | YRaay 5 21 a9 59 aul
Frofam fasien wa af= 1 52 amda o forame =y wam S2frre weene emanfa | srvde Sefemmta
I sgyger 9| sEHaress e faw: | e 1Y 96 SaeroH gutya: o1 )
formememeh Taveon fagena: wiaw | aefvek: wreEre: a9 feachod<i dig 9&mn: | T
HeerrEy faw add |

(1)  F& + TH1
(2) F9+d91
(3) A+ T
(4 =s+ T
Options:-

.1, Option ID :- 1349,
. 2, Option ID :- 1350,
. 3, Option ID :- 1351,

. 4, Option ID :- 1352,
Answer Given:- 4, Option ID : -1352

Subject : Sanskrit_Q129-135_L2_P2_CTET

Question ID:- 339




Freafafad e ufsear g adfed sTafr gt

i FivEg ufeE: wfaaafq w1 g g s e | gfage: R ey
el YA YTHY & et fagkionfa o7 | qenferi g yfierd | @ wdet: FHiH wrfErn
grfesh o fasrta gy o= SAfsiaar | @81 J@mi: g3 oy ) asfu wa=stu =R el 99q
sifSiaaa: | @ T fIgees! ST O WS @it o9 9 9999 )| U6 9 TREY, 9fteh: ek
wAreHEd |

Tehal HANMG Teh: HMY: T3 TN HAREF | ¥ Yodeh T8 T f9a 7= &)1 9=l e §
THE 92 ol Ieal e I shi=ed | dad TSI e s S SR F1g Ser=s |
AR S e 1 i =

SAreqePrerg s enis Ty Sre: Wl SAFaar | |1t T Fige Tssd | 98 T g5
e e staed - o 459 | 99 9 g Haiiyeh Yae S | & Tayei 9uRan: e | 37
9 B EdiR A afased d I | A qedidiE| 99 e e | afasata | oH
IR Ao | 37d: HURER: T8 Yl Yayaeh Fiad: FIE: < 9= e

HrETeE ool A8 AR HGd | § Taw gual §a Sl Hfchdl S{e | dal STEyTsd Wl
9 wa sy @ty e feaed Tfef ? wrwerye - o |l 3% siaE et |
AfeH | T Fadre: =R 7Y foh vigsafa sfa femafaen il

1Y FTEIEEd - ¥ 9@ | udEa sty fages v g9 T qe1 ged i wfesafa | it
ANHE: |

Hfieh: el SRl v A & 2
(1) F&mm

(2) FFHEH
(3) =N
(4) TEETH
Options:-
.1, Option ID :- 1353,
. 2, Option ID :- 1354,
. 3, Option ID :- 1355,

. 4, Option ID :- 1356,
Answer Given:- 1, Option ID : -1353

Question ID:- 340




Freafafad e ufser wear ashfed saafor gt

i FivEg ufe: wfaaafq w1 g yver S e | gfage: R ey
e YA YTHY 5 woert fagskionfa w7 | qenfuer g yfrerd | 9wt FHiH wrfren
srfesh o fasnta gy o= SAfsiaar | 981 I 3 o9 ) asfu wa=squ =R el 97q
sifSfaama: | @ wa fgerest oE O wa @i oF o aade) vd 9 T Ras), gfte: geehe
e HaEd |

Tehal ARG Teh: HIY: T3 TR HARHEF | 9 Yok T8 T f9a 7= W1 9= 91 |
T 92 Tl Feol P I Shieed | Ted TSIemeiig e sha S SR F1g 9arT=s |
H g s e = a1

ArcgRraang & G enisTu Hsl: Hepmi SArEar | Hisfy @wrd FiqH U= | 91y a8 gl
e @ saed - | 4f57 ) 99 9  waifye gae ST | gayeni uiar: et | o8
q9 B HEdR A qfasedd wd I | AR Hedeed| 99 e e 7 afasta ) oH
I afeferd | o1d: uiear: Ige o Eydes FiEd: FOE: e a9=s e

e gedl A8 aREEL SRS | § %a-d gudl ¥ SHI: Hfchdl SAYE | 981 STgy=sq |l
A T s=afasee @iy e ferae Ufefa ? FrEeree - o |l 3 =iue fawfen |
Aty | org Fadre: s 9 T vfasafa s et Ak !

T1eY: SR - ¥ 7 | udrearsu fawes v g i qe1 e afel wfgsfa | i
AT |

gired 3 i frmri ?
(1) gfesrao faska =
(2) TR BURHA

(3) oy fafe:

(4)  FHfwRry

Options:-

.1, Option ID :- 1357,
« 2, Option ID :- 1358,
. 3, Option ID :- 1359,

. 4, Option ID :- 1360,
Answer Given:- 4, Option ID : -1360

Question ID:- 341




Freafafad e ufser wear ashfed saafor gt

i FivEg ufe: wfaaafq w1 g yver S e | gfage: R ey
e YA YTHY 5 woert fagskionfa w7 | qenfuer g yfrerd | 9wt FHiH wrfren
srfesh o fasnta gy o= SAfsiaar | 981 I 3 o9 ) asfu wa=squ =R el 97q
sifSfaama: | @ wa fgerest oE O wa @i oF o aade) vd 9 T Ras), gfte: geehe
e HaEd |

Tehal ARG Teh: HIY: T3 TR HARHEF | 9 Yok T8 T f9a 7= W1 9= 91 |
T 92 Tl Feol P I Shieed | Ted TSIemeiig e sha S SR F1g 9arT=s |
H g s e = a1

ArcgRraang & G enisTu Hsl: Hepmi SArEar | Hisfy @wrd FiqH U= | 91y a8 gl
e @ saed - | 4f57 ) 99 9  waifye gae ST | gayeni uiar: et | o8
q9 B HEdR A qfasedd wd I | AR Hedeed| 99 e e 7 afasta ) oH
I afeferd | o1d: uiear: Ige o Eydes FiEd: FOE: e a9=s e

e gedl A8 aREEL SRS | § %a-d gudl ¥ SHI: Hfchdl SAYE | 981 STgy=sq |l
A T s=afasee @iy e ferae Ufefa ? FrEeree - o |l 3 =iue fawfen |
Aty | org Fadre: s 9 T vfasafa s et Ak !

T1eY: SR - ¥ 7 | udrearsu fawes v g i qe1 e afel wfgsfa | i
AT |

HfFeRer o fohe] S1el -

(1) d fosn g wwerfq faskiaas: |
(2) O HASEUY AR Fae: |
(3) o v frdtem =)

(4) q fog@em s1ge |

Options:-

.1, Option ID :- 1361,
« 2, Option ID :- 1362,
. 3, Option ID :- 1363,

. 4, Option ID :- 1364,
Answer Given:- 2, Option ID : -1362

Question ID:- 342




Freafafad e ufsear g adfed sTafr gt

i FivEg ufe: wfaaafq w1 g yver S e | gfage: R ey
el YA YTHY & voert fagkionfa o7 | qenfer g yfierd | @ wdet: FHiH wrfErn
Frfeeh 3 fasnta gy o= SAfsiaar | @81 I 3 oy ) dsfu wa=squ =R el 99q
sifSfaama: | @ wa fgerest oE O wa @i oF o aade) vd 9 T Ras), gfte: geehe
e |

Tehal HANMG Teh: HIY: T3 TN HARGEF | ¥ Yok T8 7T f9& 7= W1 9=l 9 §
T 92 Tl Feol P I Shieed | Ted TSIemeiig e sha S SR F1g 9arT=s |
g s e = wfa 1

Arcgeprang & HfehisTa Hsl: Hepmi SArEar | Hisfy @wr FiqH U | |1y a8 geil:
e @ saed - | 4f57 ) 99 9  waifye gae ST | gayeni uiar: et | o8
q9 B HEAR A qfasedd wd I | AR gedeed| 99 e e 7 afasta ) oH
I afeferd | o1d: uiear: Ige o Eydes FiEd: FOE: e a9=s e

e gedl A8 aREEL SRS | § %a-d gudl ¥ SHI: Hfchdl SAYE | 981 STgy=sq |l
A W s=afasee @iy e feraed Ufefa ? wrEeree - o 9! 3 =ciue fawfen |
Aty | org Fadre: s 9 T vfasafa s et Ak !

T1Y: FIENEET - ¥ 9@ | varEdrsfy fagss ud age T qe1 9dy <) wfasfa i
AT |

SReEEs fefafady &: gaf: ?
1)  [ugH

2) @RI
3) wa-fasRa:

(
(4) S9UH
Options:-

.1, Option ID :- 1365,
. 2, Option ID :- 1366,
. 3, Option ID :- 1367,

. 4, Option ID :- 1368,
Answer Given:- 3, Option ID : -1367

Question ID:- 343




Freafefad e ufser g aifed saafor gaf)

iR FivEg 4 wfaaafa w1 g gver S e | gfage: R ey
e YA YTHY 5 woert fagskionfa w7 | qenfuer g yfrerd | 9wt FHiH wrfren
Frfeeh 3 fasnta gy o= SAfsiaar | @81 I 3 oy ) dsfu wa=squ =R el 99q
sifSiaaa: | @ T FIgees! e O WS @t o4 99 9999 | Td 9 TREE, 4fteh: ek
e |

Tehal HANMG Teh: HMY: T3 TN HAREF | ¥ Yok T8 7T f9& 7= W) 9=l 9 §
T 92 Tl ool Fer I shieed | dad TS e s S SR [g SEeTes |
AR S R 1wt =

SArcqeRrang 9 G enisTa Hisl: Hepmi SAraar | Hisfy wwrd Fiqe Ussd | 91y a8 g&i:
e e staed - o 9159 | 99 9 g Heiyeh Yae S | & Fayehi 9uRan: e | 37
q9 B qEdiEH afased wd s | A gedidied| 99 e e | afasata | oe
IR Ao | 37d: HURER: T8 Yol YEyash Fiad: FIE: < 9= e

HIHETA el AP AREE ST | © ¥a= guel ¥ Sl Hfehdl SAHe | qal HERg=d Wl
9 wa sty Wty e feaed Tfef ? ey - o 'l 3% siaE et |
e | T Fadre: =R 7e foh vigsafa sfa femafaen fefm!

T1Y: FSEENERT - ¥ 9@ | vardrsy fayes ud |wgp T qe1 wdy <fie wfesafa | wif
AHE: |

Frefafedy e v awriaRsta ?
(1) AT=q
(2) 9T
(3) S1ERq

(4) Tfu=

Options:-

.1, Option ID :- 1369,
. 2, Option ID :- 1370,
. 3, Option ID :- 1371,

. 4, Option ID :- 1372,
Answer Given:- 3, Option ID : -1371

Question ID:- 344




Freafafad e ufser wear ashfed saafor gt

i FivEg ufe: wfaaafq w1 g yver S e | gfage: R ey
el YA YTHY & et fagkionfa o7 | qenferi g yfierd | @ wdet: FHiH wrfErn
Frfeeh 3 fasnta gy o= SAfsiaar | @81 I 3 oy ) dsfu wa=squ =R el 99q
sifSiaaa: | @ T fIgees! ST O WS @it o9 9 9999 )| U6 9 TREY, 9fteh: ek
wAreHEd |

Tehal HANMG Teh: HMY: T3 TN HAREF | ¥ Yok T8 T f9& 7= &1 9=l e §
THE 92 ol Ieal e I shi=ed | dad TSI e s S SR F1g Ser=s |
AR S e 1 i =

SArcqeRrag 9 G erisTy Hsl: epml SAraar | Hisfy @wrd Fige Ussd | 91y 0% g&i:
e e staed - o 459 | 99 9 g Haiiyeh Yae S | & Tayei 9uRan: e | 37
q9 B EdiE A afasedd d I | AFTH qedidied< 99 e e | afasata | oe
IR Ao | 37d: HURER: T8 Yl Yayaeh Fiad: FIE: < 9= e

HIHTETA el A8 AR S | § ¥a= guel e Sl Hfehdl SAHE | qal HERg=d, Wl
9 wa sty Wty e feaed Tfef 2 ey - o |l 3% saE a1
AfeH | T Fadre: =R 7Y foh vigsafa sfa femafaen il

T1Y: FIENERT - ¥ 9@ | varedrsy fases ud |wgp T qe1 wde < wfesafa | Tif
ANHE: |

Options:-

.1, Option ID :- 1373,
. 2, Option ID :- 1374,
. 3, Option ID :- 1375,

. 4, Option ID :- 1376,
Answer Given:- 3, Option ID : -1375

Question ID:- 345




Freafafad e ufser wear ashfed saafor gt

i FivEg ufe: wfaaafq w1 g yver S e | gfage: R ey
el YA YTHY & et fagkionfa o7 | qenferi g yfierd | @ wdet: FHiH wrfErn
Frfeeh 3 fasnta gy o= SAfsiaar | @81 I 3 oy ) dsfu wa=squ =R el 99q
sifSiaaa: | @ T fIgees! ST O WS @it o9 9 9999 )| U6 9 TREY, 9fteh: ek
wAreHEd |

Tehal HANMG Teh: HMY: T3 TN HAREF | ¥ Yok T8 T f9& 7= &1 9=l e §
THE 92 ol Ieal e I shi=ed | dad TSI e s S SR F1g Ser=s |
AR S e 1 i =

SAreqePrerg s enis Ty Sre: Wl SAFaar | |1t T Fige Tssd | 98 T g5
e e staed - o 459 | 99 9 g Haiiyeh Yae S | & Tayei 9uRan: e | 37
q9 B EdiE A afasedd d I | AFTH qedidied< 99 e e | afasata | oe
IR Ao | 37d: HURER: T8 Yl Yayaeh Fiad: FIE: < 9= e

TrETeEE ool A8 AR SIS | § Ta= gpal §a Sl Hfchdl STYe | dal STEyTsd i
9 wa sty Wty e feaed Tfef 2 ey - o |l 3% saE a1
AfeH | T Fadre: =R 7Y foh vigsafa sfa femafaen il

T1Y: FIENERT - ¥ 9@ | varedrsy fases ud |wgp T qe1 wde < wfesafa | Tif
ANHE: |

‘wrafa: | seafeme TR & ves: ugw: ?

(1) Fechr:;

(2) @Sy

(3) W ¥

(4) fave:
Options:-

.1, Option ID :- 1377,
. 2, Option ID :- 1378,
. 3, Option ID :- 1379,

. 4, Option ID :- 1380,
Answer Given:- 2, Option ID : -1378

Subject : Sanskrit_Q136-150_L2_P2_CTET

Question ID:- 346

Options:-
.1, Option ID :- 1381,




. 2, Option ID :- 1382,
. 3, Option ID :- 1383,

. 4, Option ID :- 1384,
Answer Given:- 1, Option ID : -1381

Question ID:- 347

TT-SRITEAT A HedTg IRANF FerH-F11g (Pen-Paper) T&f: wfag T@fd, @i -
(1) 4o, oo =
(2) T, wEY g
(3) <EE, 999 9
(4) USH, Fav =
Options:-
.1, Option ID :- 1385,
« 2, Option ID :- 1386,
. 3, Option ID :- 1387,

. 4, Option ID :- 1388,
Answer Given:- 3, Option ID : -1387

Question ID:- 348

e (Scanning) ¥ FGH TG -
(1) vEse fgamrq
(2) HiTTeET]
(3) fafereamal =i an
(4) T&NEH
Options:-

.1, Option ID :- 1389,
. 2, Option ID :- 1390,
. 3, Option ID :- 1391,

. 4, Option ID :- 1392,
Answer Given:- 3, Option ID : -1391

Question ID:- 349

AT ST, TfIg SRz ¥, Id: -
(1) 3 EH YEari=1aed Heral yafd

(2) USSERIY: YR HIEAHA TE Uefad wed

(

3) SICTSTE: 3 e a1 9i
(4) E DHEMN YeGH Ardfaeh sitaq Y ueie: T 9HaE Herad Hafd
Options:-

.1, Option ID :- 1393,
. 2, Option ID :- 1394,
. 3, Option ID :- 1395,




. 4, Option ID :- 1396,
Answer Given:- 4, Option ID : -1396

Question ID:- 350

T HedTgH Fefafed damdl Hifd -
1) FEE g aaeE ScRfagy
2) AT o auEdrEn: qeargH

3)  sEmn Hade onfersl afagfE wege
4)  HHE TR

Options:-

.1, Option ID :- 1397,
« 2, Option ID :- 1398,
. 3, Option ID :- 1399,

. 4, Option ID :- 1400,
Answer Given:- 3, Option ID : -1399

Question ID:- 351

TR e fawd foh gomfe ?

(1) == foerernfor wfa, @ sEn feeron = Fa gfagfesaf
(2) IeA: T eI QEAET: T DAL WIS 9 |

(3)  F2A: Hebaafl I dlcTeh: HeoE: Al |

(4) Ffe: wd Ghaafa aq germymen fgdtai sl s |

Options:-

.1, Option ID :- 1401,
. 2, Option ID :- 1402,
. 3, Option ID :- 1403,

. 4, Option ID :- 1404,
Answer Given:- 1, Option ID : -1401

Question ID:- 352

T Jeargaed favd foh wed A -
(1) EIYF YeaigH S g FHIvehld |

(2) TEd SEF Al WEE wid |

(3) UAd B fae derafa qe a Saore wE gearge g Sadi F:md |
(4) IAEFHAHA S fagE g gernrgEia |

Options:-

.1, Option ID :- 1405,
. 2, Option ID :- 1406,
. 3, Option ID :- 1407,

. 4, Option ID :- 1408,
Answer Given:- 1, Option ID : -1405




Question ID:- 353

Frfataay foh yrp-veawan gadafd -
(1) H=ee vfyeafeyan:

(2) SHFYEN:

(3) BRI TSI FRMAEmEN e
(4) SAEHTEEAMEL qeTq

Options:-

.1, Option ID :- 1409,
. 2, Option ID :- 1410,
. 3, Option ID :- 1411,

. 4, Option ID :- 1412,
Answer Given:- 1, Option ID : -1409

Question ID:- 354

TS UTeh Tt eI Wk Heeaqyl: Tafsfi -
1) o Ud YEr=EnH

2)  HYL HiifcasRl = Wferts:

3) WHONIERCT SAEATE |
4) TEEREEE AR AEeE T4

Options:-

.1, Option ID :- 1413,
. 2, Option ID :- 1414,
. 3, Option ID :- 1415,

. 4, Option ID :- 1416,
Answer Given:- 4, Option ID : -1416

Question ID:- 355

FreAfafEdy ymT-sAegTed faud &1 staumon e sifa 2

(1) S SR Satas gRiEafay we s 9=Es 9 e |
(2) S gl A e sEegel GeeH i |

(3) o] FEHUCHERY AN i T |

(4)  wTITSIEAO) TIUITY T TRE "t araoaH |

Options:-

.1, Option ID :- 1417,
« 2, Option ID :- 1418,
« 3, Option ID :- 1419,

- 4, Option ID :- 1420,
Answer Given:- 1, Option ID : -1417

Question ID:- 356




YRR, SHHRA dcd Fefafad wafd -
(1) srwr: Tzm: gigeen: wof:
(2) s fEm: wyde: (ST ST )
(3) Towzasga: sraR: wwi:
(4) ARFTUAIAMA] HATTEHROTERTT
Options:-
.1, Option ID :- 1421,
. 2, Option ID :- 1422,
. 3, Option ID :- 1423,

. 4, Option ID :- 1424,
Answer Given:- 1, Option ID : -1421

Question ID:- 357

SRR Y- Aege fawd foh v e -

(1) ar=afas Gy JEEqed JA:

(2)  VERLUTRIGT] S-SR T EHAT SA-HT
(3) SfaSaTHEy Tl SR S929;
(4) e FUeedihed STATHHIAH SATHTUITIEI

Options:-

.1, Option ID :- 1425,
. 2, Option ID :- 1426,
. 3, Option ID :- 1427,

. 4, Option ID :- 1428,
Answer Given:- 4, Option ID : -1428

Question ID:- 358

NCF 2005 3 aftfay g2 feencreriagry fFrefafady s =i -

(1) sey faeremrg sfe; FasTy

(2) udg FafvEdtentol =g feol wea-fagong glivafa

(3) UISTHTT TSI I BHET: TSI Edhhiaal 7 g, Iufass FY:
(4) SAEEIIS- AR Y e

Options:-

.1, Option ID :- 1429,
« 2, Option ID :- 1430,
. 3, Option ID :- 1431,

. 4, Option ID :- 1432,
Answer Given:- 2, Option ID : -1430

Question ID:- 359




HeAE: (7-38937 B Hedrg Ul |

(1) TTE HG o Fe &: IS SoT-FrnT i |

(2) TR G I T R 2 A forer |

(3) ‘SE: WEAEE AT Wo: ' T WASHA Ars 0 SEn SErEi S |
(4) ST Hedfaw: |e e |

Options:-

.1, Option ID :- 1433,

« 2, Option ID :- 1434,

. 3, Option ID :- 1435,

. 4, Option ID :- 1436,
Answer Given:- 3, Option ID : -1435

Question ID:- 360

Y= AT TG TS T hef STEdfashaarei=i T4 shfd | Od yerei: foh weq ?
(1) wreAfafy:

(2) UEFYEYR:
(3) shis=RIfA
(4) =A9EY: (Realia)

Options:-

.1, Option ID :- 1437,
« 2, Option ID :- 1438,
. 3, Option ID :- 1439,

. 4, Option ID :- 1440,
Answer Given:- 1, Option ID : -1437
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